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Study the data in the table and answer the questions that follow

Consider the following table that shows the percentage (%) distribution of employees in five
different departments A-E in a company during the years 2018 and 2019. There is a total
number of 18000 and 20000 employees in the company during the years 2018 and 2019
respectively.

Department-wise Distribution of Employees

Percentage (%) of Employees

Department 2018 2019
A 22 24
B 23 26
C 18 20
D 29 20
E 8 10

Sub questions

Question Number : 1 Question Id : 2105298761 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

If the average monthly salary of employees in the Department - A was 24000 in 2018, then

what was the approximate total salary expenses of the department - A in 20187

1.% 1.2 crores
2. T 4.7 crores
3.3 14 crores
4.3 95 crores
Options :
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21052934401. 1
21052934402. 2
21052934403. 3
21052934404. 4

Question Number : 2 Question Id : 2105298762 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What is the approximate percentage increase in the number of employees in the Department -

C in the year 2019 with reference to the year 20187

1.2 %

2. 2.34 %
3.23.45 %
4.8.34 %
Options :
21052934405. 1
21052934406. 2
21052934407. 3
21052934408. 4

Question Number : 3 Question Id : 2105298763 Question Type: MCQ Option Shuffling: No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In which department the variation (represented by absolute numbers) in employee strength is
maximum in 2019 with reference to 20187

1. Department - A
2. Department - B
3. Department - D
4. Department - E
Options :

21052934409. 1

21052934410. 2
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21052934411.3
21052934412. 4

Question Number : 4 Question Id : 2105298764 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

If 300 employees had left the department - B at the end of 2018, then how many new

employees joined in 2019 in the department - B?

1. 480

2. 960

3. 1360

4. 1140
Options :
21052934413. 1
21052934414.2
21052934415. 3
21052934416. 4

Question Number : 5 Question Id : 2105298765 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What is the ratio of the'number of employees in the depJdiifient <EIRR20Y8C0Mm paredito
those in the department - D in 20197

[R]

f
W oD
[ R—

-l
[ R B O o B W |

Options :

21052934417. 1
21052934418.2
21052934419.3
21052934420. 4
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Question Id : 2105298760 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions

: No
Question Numbers : (1 to 5)
Question Label : Comprehension

frafafas aifte w ffar Fifse st ad 2018 Tu1 adf 2019 & R & S & TN
fafiry Ryt v - € & sd=rivat & Favo o ufdwddr (%) St 81 9 2018 94T 2019 &
SR HUHt & sHIival $ $a T\ HHR: 18,000 FUT 20,000 7| A1feret # 2w 71U siwst

&P SMTUR U Ut & I Sifeie
HHINA] &1 [GHIT - IR faaxm

HHAN! DI U= (%)
fam 2018 2019
A 22 24
B 23 26
C 18 20
D 29 20
E 8 10

Sub questions

Question Number : 1 Question Id : 2105298761 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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gl a9 2018 H fAHRT U H SNl BT H¥d HIf® dad 24000 U1 Al 94 2018 H [AHRT - T &I
I da- oo fdee=T 4T 7

1. 312 S
2. 347 BUS
3.314TRS
4,395 TS
Options :

21052934401. 1
21052934402 2
21052934403. 3
21052934404. 4

Question Number : 2 Question Id : 2105298762 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Iy 2018 & TeH H a¥ 2019H [aHRT - Ul H S o1 G H SiHiAd Wid=iddl 9is i
of 2

1. 2 UfdEd

2. 2.34 yfa=d
3. 23.45 Ufa=rd
4. 834 gfg=d
Options :
21052934405. 1
21052934406. 2
21052934407. 3
21052934408. 4

Question Number : 3 Question Id : 2105298763 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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gy 2018 & Tay H g4 2019 § ®H J [GUW & Sdand 3 gaiiys gRaad (FHeus =
SR UafRid) 41 2

1. [AYRT - A
2. f[qurT - B
3.fqurT- D
4 fqUFT- E
Options :
21052934409,
21052934410,
21052934411.
21052934412.

AW N =

Question Number : 4 Question Id : 2105298764 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

¥ 2018 & 3fd H Tl 300/ HHINNG! o [GHFI-B BIST & d 34 2019 H (B U HHAR] [GHFT - B
¥ fffid gu

1. 480

2. 960

3. 1360
4.1140
Options :
21052934413. 1
21052934414. 2
21052934415. 3
21052934416. 4

Question Number : 5 Question Id : 2105298765 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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qY 2019 H faHAT - D &1 qai-1 H 98 2018 H [AHFT - £ & HHAIRAT B WEH BT 40 F o ?

1.9:25
2:9115
3.8115
4.8:25
Options :
21052934417. 1
21052934418. 2
21052934419. 3
21052934420. 4

Sub-Section Number : 2
Sub-Section Id : 210529337
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 2105298766 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which learning theory provides support far active participation of leaffier in the learning

process in an interactional setting with-intrinsic motivatiof 3s thelBasis?

1. S-R Theory of Watson

2. Reinforcement Theory of Skinner
3. Contructivist Theory of Viygotsy
4. Insight Theory of Kohler

Options :

21052934421. 1

21052934422.2

21052934423. 3

21052934424. 4

Question Number : 6 Question Id : 2105298766 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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SRS URUed | sfad sifinRo & gy i ufirar & arm Rl @ 9fea
YRiieR! & foe @i st Rigia weas & 2

1. 9T @1 S - R [0

2. T&pR &1 ugaH fagid

3. AETIND] &1 TgATG] HEid
4. Do @ aey Ggid
Options :

21052934421. 1

21052934422. 2

21052934423. 3

21052934424. 4

Question Number : 7 Question Id : 2105298767 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

While reporting the result of assessment a college teacher makes use of percentile ranks in

place of scores obtained by his/her students. What kind of evaluation Wil it béigalled?

1. Criterion-referenced
2. Norm-referenced

3. Formative

4, Summative

Options :

21052934425. 1
21052934426. 2
21052934427.3
21052934428. 4

Question Number : 7 Question Id : 2105298767 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Hedich1 & URUITHI B Wgd Bd 9HY Diciel (&0 - 30 Gidal gR1 U fdy 7Y 3i®i b
R W Adads ull &1 FarT {611 589 USR & Hedic- o ol digl SIe] ?

1. F@y-dgiifa
2. AF®-Haiid
3. FATTES
4 JHadlED
Options :
21052934425. 1
21052934426. 2
21052934427. 3
21052934428. 4

Question Number : 8 Question Id : 2105298768 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given below are two statements

Statement I: Programmed Instructional material uses active respondi
feedback as important principles for learning

Statement lI: Skinner's reinforcement principle is the ba h types

of programmed instructional material
In light of the above statements, choose the correct answer from the options given below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement |l are false
3. Statement | is true but Statement |l is false
4, Statement | is false but Statement Il is true
Options :

21052934429. 1

21052934430. 2

21052934431. 3
https://g28.tcsion.com/CAE/viewHtmIPDFAction.action 11/233
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21052934432. 4

Question Number : 8 Question Id : 2105298768 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

fn%amaﬁﬁﬁw%‘

HYF-| : DT AFeTIHD Gl H S & Hgayul srfbsial gyl iy - 3rfhar ud
BRI Wi BT ST ST 1

TYH-|| : R &1 JaaH HGId 1610 UHR @1 WS HeIHee arel e J f[igd
HUR gl

Suddd HYAl & afaie | HHiihd [deedl H U T8l 3w I

1. @Y | AR || SH el g

2. @Y | 3R || GFf Tad &

3. BYH-1 9 8, foog dY-1l 7Teid o |
4. DYH-| I 8, foog dYH-Il a1 B
Options :

21052934429. 1

21052934430. 2

21052934431. 3

21052934432 4

Question Number : 9 Question Id : 2105298769 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following educational objectives are considered to be of higher level in the
affective domain of taxonomic scheme?

A. Synthesis

B. Characterization

C. Analysis

D. Organization

E. Precision

Choose the correct answer from th& options given below:

1. A and B only
2. B and C only
3. B and D only

4. D and E only
Options :
21052934433. 1
21052934434. 2

21052934435. 3
21052934436. 4

Question Number : 9 Question Id : 2105298769 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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fofafaa Qefte sexal | € forus! afifen @M & Yaes IH-83 (S ) § S, w0
B T 9 6 ?

A . GET
B . AIETH0
c . fa=agm

D .cAgdaid—

E. ORGan
Fafeied fdeeal 5 ¥ 95 3 9iHL :

1. H3d A 3R B
2. PaaB AR C
3. HaaAB AR D
4 H3AD 3ARE
Options :
21052934433, 1
21052934434. 2
21052934435, 3
21052934436. 4

Question Number : 10 Question Id : 2105298770 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following describe understanding level teaching?

A. Systematic, step by step presentation to promote retention of facts presented
B. Giving a large number of positive and negative examples to explain concepts
C. Insisting on effective storage of information

D. Helping to promote seeing of relationships among facts

E. Critical sifting of facts and information

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. Cand D only
4. B and D only
Options :
21052934437. 1
21052934438. 2
21052934439. 3
21052934440. 4

Question Number : 10 Question Id : 2105298770 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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FafaRed ARwaei d 9 oF 9 e & ey ©R & 9 adl 6 7
A U¥Id ] Bl SR [ D1 Al B UiHd B & (ol gogaieyd giar-e usfd|
B. SI@YRUTS @1 e & fou @ H& § 90NE® U4 A0RED Jaieul ol

C. gae & TUE YUSRU IR §d o1

D. Tl & did a4l & @t @I iad d- d Horkd oAl
E. 941 Ud g1l & GHIETHES [aegol

i feu ¢ famedl # 9 wel ot 9.

1. A A AR B
2. HaAB AR C
3. HAAC IR D
4. HFABARD

Options :
21052934437. 1
21052934438. 2

21052934439. 3
21052934440. 4

Question Number : 11 Question Id : 2105298771 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

https://g28.tcsion.com/CAE/viewHtmIPDFAction.action 16/233
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Given below are two statements

Statement I: A research hypothesis is a tentative statement postulating a relationship between
factual and conceptual elements of the variables

Statement lI: A researcher sets up a 'Null hypothesis’ so that the deduced consequences of a
research hypothesis may be directly tested

In light of the above statements,choose the correct answer from the options given below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement Il are false

3. Statement | is correct but Statement 1l is false
4, Statement | is incorrect but Statement Il is true
Options :

21052934441. 1

21052934442, 2

21052934443. 3

21052934444, 4

Question Number : 11 Question Id : 2105298771 Question
Correct Marks : 2 Wrong Marks : 0

o Is Question Mandatory : No

https://g28.tcsion.com/CAE/viewHtmIPDFAction.action 17/233
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Tdal sy ey e g

HUF-| : Y GBI 911 & JETHD U8 HaURUTHD ddl U2 ARG et FH=fud & aman
eyt gHIfad HuF B

©HY-I| ; T Uh FERIES I GRS S41dT o forgdy =y UReeAT & Hafaa aRomst &1
T E9 § G101 8 9 |

Suddad HYAl & faie | it [deedl & U 98l 3w 91 :

1. Y | 3R 11 ST G B

2. Y | 3R || GFf Tad &

3. BYH-1 9 8, foog dY-11 7Ta7d Bl
4. DYH-1 A g, fdo=g HY=-1 Hel 5
Options :

21052934441. 1

21052934442, 2

21052934443. 3

21052934444, 4

Question Number : 12 Question Id : 2105298772 Question aNo Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

For the following research problem, which of the listed research methods will be most

appropriate?

"School principal’s influence on trust: Perspectives of mother's children with disabilities”

1. Experimental method

2. Focused group discussion (FGD) based method
3. Descriptive survey method

4. Ex post facto method

Options :

21052934445. 1

https://g28.tcsion.com/CAE/viewHtmIPDFAction.action 18/233
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21052934446. 2
21052934447. 3
21052934448. 4

Question Number : 12 Question Id : 2105298772 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

fafeiad 2y 99 o [T ©FYT 2y IS 9aiie Sugad & 7
+ T4ug W T WU & W44 ; HRed 9=df @1 grars &1 uiyeg”

1. TORTI® U&id

2. i< GUE gl (hidh<s YU fExe[ (Uhels) H1iid gGid |
3. foaeun® a&m Usfd

4 DO UG

Options :

21052934445 1

21052934446. 2

21052934447. 3

21052934448 4

Question Number : 13 Question Id : 2105298773 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In which one of the sampling methods, units comprising its constituents are groups taken

intact rather than individually?

1. Cluster sampling method

2. Simple random sampling methed
3. Systematic sampling method

4. Dimensional sampling method
Options :

21052934449. 1

https://g28.tcsion.com/CAE/viewHtmIPDFAction.action 19/233
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21052934450. 2
21052934451. 3
21052934452. 4

Question Number : 13 Question Id : 2105298773 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

yfdex ufaagd @ o= ufefa o oy ged! of gaifay &3 didl shisdl & Ju® ¥4 Y o &)
SUE THUl ¥ Y gy Sl § 2

1. T ided ufdegH uigfa

2. O grefess ufaee uiaaaq ufefd
3. Tafeyd ufdes ufdes gigfa

4, foare® ufdeyl ulid=g uiEfa
Options :

21052934449. 1

21052934450 2

21052934451, 3

21052934452, 4

Question Number : 14 Question Id : 2105298774 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Given below are two statements

Statement I: Qualitative research is an umbrella term to refer to various research strategies
that share certain characteristics

Statement lI: The research-data collected in qualitative research has been termed soft i.e, rich
in description of people, places and conversation etc.

In light of the above statements, choose the correct answer from the options given below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement Il are false

3. Statement | is correct but Statement 1l is false
4, Statement | is incorrect but Statement Il is true
Options :

21052934453. 1

21052934454, 2

21052934455. 3

21052934456. 4

Question Number : 14 Question Id : 2105298774 Question
Correct Marks : 2 Wrong Marks : 0

o Is Question Mandatory : No
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EIEEALLEAEIEE

HYF-|  [UITHD Y DS WY [T D Gl B arell fafea =y TGl o1 IRYgd o
YP UG 5

BUA-1| : O Y F GAfed e SHids| B DI (WITe) BT 741 & i 396 anil, RIE! aul
Fratan 31 &1 R FaRu e gl

Suddad HYAl & faie | it [deedl & U 98l 3w 91 :

1. Y | 3R 11 ST G B

2. Y | 3R || GFf Tad &

3. BY-1 9 8, foog dY-11 Tcid o
4. DYH-| A 8, foog HYH-11 981 B
Options :

21052934453. 1

21052934454, 2

21052934455. 3

21052934456. 4 d d
Question Number : 15 Question Id : 2105298775 Question Type : ptio uffling : No Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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The scope for violating research ethics is considered to be relevant in respect of which of the
following stages in a research study?

A. Formulating research hypothesis and setting up a Null hypothesis for testing it

B. Defining and delimiting the scope of the research study

C. Analysing and interpreting research data

D. In defining a research population and method of sampling

E. Reporting the research findings and using the same as a basis for policy formulation
Choose the correct answer from th& options given below:

1. C and E only
2. A and B only
3. B and C only

4. D and E only
Options :
21052934457. 1
21052934458. 2

21052934459. 3
21052934460. 4

Question Number : 15 Question Id : 2105298775 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Y 3Hemge & HufafEd o O 90 & d6y 7 2y Fifowre © Soyd & &F & Ui J
Wl B ?

A, Y URSHT B GAds B3] a4 39D FIaU & [t 6y uReed- =iftd $11
B. TN1Y LT b & I GRHINT qul UREIEd BT

C. ZNY P al DI [AZyT FUT FHdad deT|

D. HY WY 741 Wiaeal Ufda & [afd & g s

E. 21e UROmH! &l Yied d=A1 aul ifd ©f GHas A & 08 HYR & F9 § 3861 TR &A1
i feu e faoedl # ¥ 98! ST BIEE iV :

1. $3d C 3R E
2. Pad A 3N B
3. PaaB AR C

4. Haa D ARE
Options :
21052934457. 1
21052934458. 2

21052934459. 3
21052934460. 4

Question Number : 16 Question Id : 2105298776 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Because of new media, learning is no longer an assembly of

1. Liberal views

2. Technology-based efforts
3. Facts

4. Knowledge

https://g28.tcsion.com/CAE/viewHtmIPDFAction.action 24/233
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Options :
21052934461. 1
21052934462. 2
21052934463. 3
21052934464. 4

Question Number : 16 Question Id : 2105298776 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

U HifSg1 & SR AU He HYiied § 4 5991 998 Tel & ;

1. Jdg Hd @]

2. A% ARG gl &l
3. df &

4. 3 &l

Options :

21052934461. 1
21052934462. 2
21052934463. 3
21052934464. 4

Question Number : 17 Question Id : 2105298777 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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What are the most prominent elements in the management of communication in an
educational institution?

A. Sidetracking oppositional views

B. Structuring work roles

C. Commanding over colleagues and students

D. Keep others informed

E. Guiding others wherever possible

Choose the correct answer from th& options given below:

1. A, B and C only
2. B, C and D only
3.C, D and E only

4. B, D and E only
Options :
21052934465. 1
21052934466. 2

21052934467. 3
21052934468. 4

Question Number : 17 Question Id : 2105298777 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Wit FRi1e H GU & YdeE J B § Galide THE dd g 2
A. faRidi faari @1 gruida @5s i) s

B. @14 YHd13H] DI TG DAl

C. gl Tyl B TR A oAl

D. GRI @I g1 &l

E. 9id i 924 51 GERI BT HRIGRH BAl

i feu ¢ famedl # 9 wel ot 9.

1. HaAA, B3R C
2. ®adaB, C3RD
3. ®aaC, D3MRE
4. HadAB, D ARE

Options :

21052934465. 1
21052934466. 2
21052934467. 3

21052934468. 4

Question Number : 18 Question Id : 2105298778 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Given below are two statements
Statement I: In a classroom, every teacher has to perform the gatekeeping function

Statement lI: Every teacher in any higher educational institution should act as the moral
custodian of students, both inside and outside it

In light of the above statements, choose the correct answer from the options given below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement Il are false

3. Statement | is correct but Statement 1l is false
4, Statement | is incorrect but Statement Il is true
Options :

21052934469. 1

21052934470. 2

21052934471. 3

21052934472. 4

Question Number : 18 Question Id : 2105298778 Question Type g ffli o Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0 -
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CIERA LT AT
BY-| ; DETH D DI gRUTT BT DA HlGd BT 8idl o

HYF-1| ; o 1t SR Deifore Twe § Ud® Seaue of A9Re td g aHl ce 9 8l &
A SfiRe® & ©9 J &1 S et

Suddad HYAl & faie | it [deedl & U 98l 3w 91 :

1. Y | 3R 11 ST G B

2. Y | 3R || GFf Tad &

3. BYH-1 9 8, foog dY-11 Ta7d B
4, DYH-| A 8, foog HYH-1 98l &l
Options :

21052934469. 1

21052934470. 2

21052934471. 3

21052934472 4

Question Number : 19 Question Id : 2105298779 Question Type g ffli o Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0 -
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The chronological sequence of institutions of educational communication is
AL AIR

B. CEC

C. UGC - Countrywide classroom

D. Gyan Vani

Choose the correct answer from the options given below

1.ACBD
2.A B CD
3.B.CAD
4D, A B C
Options :
21052934473. 1
21052934474. 2
21052934475.3
21052934476. 4

Question Number : 19 Question Id : 2105298779 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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&1 YRV & YRl B BIHHTER HH ¢ ;
A. T 33 3R (AIR)

8. 91 3 9l (CEC)

C. g5l Gl (UGC) - G *R @I Dafl

D. Faruff

e feg 71e faeeul 9 U 9et ST &1 957 Sifer

1.ACBD
2.A B CD
3.B.CAD
4D, A B C
Options :
21052934473. 1
21052934474. 2
21052934475.3
21052934476. 4

Question Number : 20 Question Id : 2105298780 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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List |

List I

Type of communication

Description

A. Dyadic communication

I. Messages flow through a network of inter-
dependent relationships

B. Public communication

Il. Uses a medium to reach a large anonymous
audience

C. Organisational communication

Ill. Provides equal opportunity to communicate

D. Mass communication

IV. Occurs within a formal and structured
setting

Choose the correct answer from the options given below:

TA-ILB-ULC-IV,D-I
ZA-ILB-IV,C-1,D-4
3A-IV,B-LC-1I,DAIN
4 A-1L,B-ILC-IlIl, -1V
Options :

21052934477. 1
21052934478. 2
21052934479. 3
21052934480. 4

Question Number : 20 Question Id : 2105298780 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

https://g28.tcsion.com/CAE/viewHtmIPDFAction.action
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Gaii-1 i Faii-1l & 9y GAferd ifor :

] gal-1i
gR & UeR  [fgaiu
;-Wﬂ‘”f“““ |, SRk et F Jead g T HaRa e B
, 11 S5 W1 H 31T Yidsi 9 Ugd- o (o1 31 &l
B. TP IR T Sl 6 |
%‘HT{E e 1. GRS & 070 GHM a9 JUde ®eardl ol
gﬁr” Ll v, SIS 9UT TREE ™0 & I eidl ol

fafdied fasedl H § Uel 3T g0 :

TA-ILB-ULC-IV,D-4

ZA-ILB-IV,C-1,DAl

3A-IV,B-1C-11, =l

4 A-1L,B-ILC-III, BN a a
Options :

21052934477. 1
21052934478. 2
21052934479. 3
21052934480. 4

Question Number : 21 Question Id : 2105298781 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Match List | with List 1l

List I List 11
Numbers Square roots
A 41209 .9

B. 841 1. 29

C. 81 1. 232

D. 53824 V. 203

Choose the correct answer from the options given below:

TLA-IV,B-LC-1,D-1I
ZA-ILB-INW,C-1,D-Il
JA-ILB-ULC-LD-V
4 A-IV,B-UI,C-1,D-1l
Options :

21052934481. 1

21052934482. 2
21052934483. 3
21052934484. 4

Question Number : 21 Question Id : 2105298781 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Tdl-1 1 aii-1l & Ty AT DI : -1 H & 73 Fesil o FiHa gai-1 § U E -

gal-| Tl-Il
A. 41209 1.9

B. 841 11.29
C. 81 .232
D. 53824 IV.203
i feu 7Y famedl 5 9 981 IR 9T :

TLA-IW,B-1,C-1,D-1
ZA-1,B-IN,C-1,D-1lI
JA-ILB-LC-1,D-V
4 A-IV,B-1,C-1,D-1I
Options :

21052934481. 1
21052934482. 2
21052934483. 3
21052934484. 4

Question Number : 22 Question Id : 2105298782 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

https://g28.tcsion.com/CAE/viewHtmIPDFAction.action
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Match List | with List 1l

List | List Il

Types of numbers Examples

A, Matural numbers L{..-2,-1,01 2 ..}
B. Whole numbers 11,2 3.4 .0

C. Integers M40 1,2, 3, .}

D. Prime numbers V.{2, 3,57 11,13, .}

Choose the correct answer from the options given below:

TA-ILB-LC-WN,D-II
ZA-ILB-ULC-1L,D-V
3A-L,B-ILC-IV,D-II
4 A-IILB-ILC-LLD-WV
Options :

21052934485. 1

21052934486. 2
21052934487. 3
21052934488. 4

Question Number : 22 Question Id : 2105298782 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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feumg:

gal-| Tl-Il

A. WP Tdd HE=ATT e BT
B. guf Hw=ame {1, 2, 3, 4.}
cquid 1. {0, 1, 2, 3, o)

D. YT & IV.{2,3,5,7, 11,13 ...}
i feu T f9eedl § 9 98l o g

TA-NLB-L,C-IV,D-1
ZA-1,B-LC-1,D-V
3A-1,B-ILC-1V,D-1l
4 A-LB-NL,C-I,D-1V
Options :

21052934485. 1
21052934486. 2
21052934487. 3
21052934488. 4

Question Number : 23 Question Id : 2105298783 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

https://g28.tcsion.com/CAE/viewHtmIPDFAction.action
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Given below are two statements

Statement I: Compound interest involves the reinvestment of the earned interest, which in
future years also earns interest

Statement lI: Simple interest is the amount earned or paid on a sum of compound interest
and principal amount

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement |l are false

3. Statement | is correct but Statement Il is false
4, Statement | is incorrect but Statement |l is true
Options :

21052934489. 1

21052934490. 2

21052934491. 3
21052934492. 4 a a

Question Number : 23 Question Id : 2105298783 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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EIEEALLEAEIEE

BYF-| : Il oA H SHfold s BT O = e 8 forg ur i wigss & auf # sare sifsfa
g el

®YA-1| : YIHRU SGTol 9 M © Sl Tehgle STl aul HLH D1 AR & AT W Hfofd 3yal vad
Qi

Suddad HYAl & faie | it [deedl & U 98l 3w 91 :

1. Y | 3R 11 ST G B

2. Y | 3R || GFf Tad &

3. BY-1 9 8, foog dY-11 Tcid o
4. DYH-| A 8, foog HYH-11 981 B
Options :

21052934489. 1

21052934490. 2

21052934491. 3

21052934492 4 d d
Question Number : 24 Question Id : 2105298784 Question Type : ptio uffling : No Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Find the odd pair/group

A. 66-70

B.30-48

C. 80-98

D. 40-58

E. 72-80

Choose the correct answer from the options given below:

1. A only

2. C and E only
3. B and D only
4. E only
Options :
21052934493. 1
21052934494. 2
21052934495. 3
21052934496. 4

Question Number : 24 Question Id : 2105298784 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Waﬁfﬁ%mﬁﬁu
A 66 -70
B.30-48
C.80-98
D. 40 - 58

E.72-90
Frafifea e 3 3 98 SR ahT:

1. Had A

2. Pad C 3R E
3. HaAB AR D
4, HAAE
Options :
21052934493, 1
21052934494, 2
21052934495, 3
21052934496, 4

Question Number : 25 Question Id : 2105298785 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Given below are two statements
Statement |: A percentile divides the distribution into 100 equal parts
Statement lI: Range is the distribution between zero and highest value

In light of the above statements, choose the most appropriate answer from the options given

below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement Il are false

3. Statement | is correct but Statement 1l is false
4, Statement | is incorrect but Statement Il is true
Options :

21052934497. 1

21052934498. 2

21052934499. 3

21052934500. 4

Question Number : 25 Question Id : 2105298785 Question Type g ffli o Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0 -

CICEAGAICA AR VS
HYF-| : TdadD G0 &I 100 THH HFT H fguied sxar o

®YA-1| : (TR, I 7Y Swad 9H & JY B [aai 0l g
Iuddad HYAl & e o Hgiied [deedl o U gl SR 9 :

1. YT | IR 1 S T B
2. @Y | 3R || GFl Tad & |
3. BYH-1 9 &, foog dY-11 Tad B
4, DYF-| AT g, foog HYH-11 9ol B
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Options :
21052934497. 1
21052934498. 2
21052934499. 3
21052934500. 4

Question Number : 26 Question Id : 2105298786 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In a coded language if ANIMAL is written as LAIMNA, then CIRCLE will be written as

1. ELRCIC
2 ELCRIC
3. ERLCIC
4. ERCLIC
Options :
21052934501. 1
21052934502. 2
21052934503. 3
21052934504. 4

Question Number : 26 Question Id : 2105298786 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

®fcd U H afg ANIMAL 1 LAMINA & %9 3 foRal ol & df circLE @i Rgfafiea o 4 feg
YR ferar Se?

1. ELRCIC
2 ELCRIC
3. ERLCIC
4, ERCLIC
Options :
21052934501. 1
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21052934502. 2
21052934503. 3
21052934504. 4

Question Number : 27 Question Id : 2105298787 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Find the odd one out among the following

1. DfGj

2. HklLo

3. MoPs

4 TvWz
Options :
21052934505. 1
21052934506. 2
21052934507. 3
21052934508. 4

Question Number : 27 Question Id : 2105298787 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Fgfafad 3 ¥ 999 3 $ieig ;

1. DfGj

2. HklLo

3. MoPs

4. TvWz
Options :
21052934505. 1
21052934506. 2
21052934507. 3
21052934508. 4
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Question Number : 28 Question Id : 2105298788 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In a family of four A, B, C and D; D is taller than B, C is shortest of all and A is taller than only
one person, then

A. Number of persons taller than A is the number of persons shorter than B
B. D is tallest

C. A is shortest

D. No one is shorter than C

E. Only one person is shorter than B

Choose the correct answer from the options given below:

1. A B and E only
2. A, B and D only
3. B and C only

4. A and D only
Options :
21052934509. 1
21052934510. 2
21052934511. 3
21052934512. 4

Question Number : 28 Question Id : 2105298788 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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IR AGIAI A, B, CHRD P URGRH D, s U Tl &1 I C GoH BT & 3R A 38 © Hada Ud
Higd G a8 |

A. A T Gyl 1 ST B 9 BIC idadl &1 68 B
B.D §&4 Tal &

C. A GaH BleT 5

D.C AT W BT Te &

E. ©a0 U Hiadd B T Bl 6|

A feu ¢ famedl # ¥ el Jaygine :

1. B3d A, B3R E
2. Pad A, B3R D
3. PaaB AR C

4 BT AARD
Options :
21052934509. 1
21052934510 2
21052934511, 3
21052934512. 4

Question Number : 29 Question Id : 2105298789 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Match List | with List 1l

List I List 11

Typical Aristotelian syllogism Technical names in Nyaya philosophy
A. Socrates is mortal I. Nigamana

B. Because he is a man Il. Upanaya

C. Whoever is a man, is a mortal e.g. Pythagoras|lll. Udaharan

D. Socrates is a man who is invariably a mortal |IV. Hetu

E. Therefore Socrates is mortal V. Pratijna

Choose the correct answer from the options given below:

1LA-V.B-IV,C-IILD-1l,E-4
2A-LB-1LC-1D-1V, ES%
3A-1LB-LC-I, D-V, S
4A-ILB-M,C-1,D-1¥;E-¥

Options :

21052934513. 1

21052934514. 2 a a
21052934515. 3

21052934516. 4

Question Number : 29 Question Id : 2105298789 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Tdl-1 1 Gait-11 & Gy AT DI : Gi-1 § 3RT @ B dd Hiawiadl of s & oraid gai-I

ez & o] TH Gl o

gal-| gal-11

A GEId IR E MEuEs]
B. Fifdh 98 U AGHI & 1. 35T
c5i i 3! § 98 %R § Jarexuny UUrIRY 111, ISR
D.g&H0d U HIGH ¢ |l FRudig ®g 495 8 IV. 8

E. 3c: GoUd A% & v. fesT
Fafaiad fGeeal 5 9 981 SR g

1TLA-V,B-IV,C-NILD-1l,E-/J
ZA-LB-ILC-IILD- IV, E A
3A-ILB-1,C-1I,D -V, =
4 A-Il,B -, C- I D- I\

Options :

21052934513. 1

21052934514. 2 a a
21052934515. 3

21052934516. 4

Question Number : 30 Question Id : 2105298790 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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What type of fallacy is implied in the following
'Fire is cold, because it is a substance”

1. Badhita

2. Virudha

3. Asadharna

4. Anupsamhan
Options :
21052934517. 1
21052934518.2
21052934519. 3
21052934520. 4

Question Number : 30 Question Id : 2105298790 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

fafaiad 3 o9 UoR @l sy Higd s 2
3 2fidd & e de Ud Uil &

1. 9ftrd

2. favg

3. TR

4, AOHYR
Options :
21052934517. 1
21052934518. 2
21052934519. 3
21052934520. 4

Question Number : 31 Question Id : 2105298791 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Given below are two statements

Statement I: ALU stands for Arithmetic Logic Unit

Statement lI: UPS stands for Uniform Power Source

In light of the above statements, choose the correct answer from the options given below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement Il are false

3. Statement | is correct but Statement 1l is false
4, Statement | is incorrect but Statement Il is true
Options :

21052934521. 1

21052934522. 2

21052934523. 3

21052934524. 4

Question Number : 31 Question Id : 2105298791 Question :M ti ffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
CIE RA RIS AT

®YH-1 : ALU U edfies difeie e 1 gl
HYF-II : UPS BT AU GhrH diak T I 3
Iuddad HYAl & e o Hgiihd [deedl o U 98l SR 9 :

1. YT | IR 1 S T B
2. @Y | 3R || GFl Tad & |
3. BYH-1 9 &, foog dY-11 Tad B
4, DYF-| AT g, foog HYH-11 9ol B

Options :
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21052934521. 1
21052934522. 2
21052934523. 3
21052934524. 4

Question Number : 32 Question Id : 2105298792 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are correct?

A. Internet is larger than intranet

B. Intranet is larger than internet

C. Internet and intranet are same

D. Internet is a network of networks

E. World Wide Web is an example of intranet

Choose the correct answer from the options given below;

1. B and E only
2. A and D only
3. Cand E only
4. B and C only
Options :
21052934525. 1
21052934526. 2
21052934527. 3
21052934528. 4

Question Number : 32 Question Id : 2105298792 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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BN R AR E AR R
A. ZeHE U 3ev-e A a1 o

B. 3¢3-e U S¢He Hftd 921 g

C. 32 3R ST U YHH B

D. ST - Heghy Bl "cad ol

E. 9o disS dd S¢He &l U 3aeul 5|
id feu 77u fadedl & ¥ Ut SwR 9

1. $3daB AR E
2. PAAA R D
3. $ad C 3R E
4, H3AB AR C
Options :
21052934525. 1
21052934526, 2
21052934527. 3
21052934528, 4

Question Number : 33 Question Id : 2105298793 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Match List | with List 1l

List I List 1l

A. Programming Language I. Wide Area Network
B. Operating System Il. MS Powerpoint

C. Internet Il. Windows XP

D. Application Software V. C++

Choose the correct answer from the options given below:

TA-1L,B-ILC-I,LD-1V
ZA-W,B-1l,C-1,D-1
3JA-WV,B-1,C-ILD-1
4 A-ILB-ILC-I,D-1V
Options :

21052934529. 1
21052934530. 2
21052934531.3
21052934532. 4

Question Number : 33 Question Id : 2105298793 Question t o Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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gaii-1 &l Faii-1 gafed sifa

RGIg g1l
A TTFERT Hiey . A58 URAr Hedd
B. TR e Il T9 U U/aE Wiae

C. 5T 1. fdsta wag i (xp)
DWH@TW V. C++
2 60 T f9eaal 4 ¥ w8 S g

TA-1L,B-ILC-I,LD-1V
ZA-W,B-1l,C-1,D-1
3JA-WV,B-1,C-ILD-1
4 A-ILB-ILC-I,D-1V
Options :

21052934529. 1
21052934530. 2
21052934531. 3
21052934532. 4

Question Number : 34 Question Id : 2105298794 Question t o Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

https://g28.tcsion.com/CAE/viewHtmIPDFAction.action 54/233



10/1/2020 https://g28.tcsion.com/CAE/viewHtmIPDFAction.action

Given below are two statements

Statement |: Example of primary memory is RAM

Statement lI: Example of secondary memory is Pen drive

In light of the above statements, choose the correct answer from the options given below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement |l are false

3. Statement | is correct but Statement Il is false
4, Statement | is incorrect but Statement Il is true
Options :

21052934533. 1

21052934534. 2

21052934535. 3

21052934536. 4

Question Number : 34 Question Id : 2105298794 Question
Correct Marks : 2 Wrong Marks : 0

EIEEA G AIE AR
HYA-| : UISH HHART BT 3180 3R T TH' (RAM) B

'aMdtﬂﬁaNo Is Question Mandatory : No
HUF-1I : YHSI THRT BT 3GT6 07 IE4 5

Iuddad HYAl & e o Hgiihd [deedl o U 98l SR 9 :

1. YT | IR 1 S T B
2. @Y | 3R || GFl Tad & |
3. BYH-1 9 &, foog dY-11 Tad B
4, DYF-| AT g, foog HYH-11 9ol B

Options :
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21052934533. 1
21052934534. 2
21052934535. 3
21052934536. 4

Question Number : 35 Question Id : 2105298795 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is related to National Super Computing Mission of Government of

India?

1. Param 8000

2. Param 10000
3. Param Dhavak
4. Param Shivay
Options :
21052934537. 1
21052934538.2
21052934539. 3
21052934540. 4

Question Number : 35 Question Id : 2105298795 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

fFofeiad § 9 $1H YRd TR & AP R S i ¥ g6fih 22

1. U¥H 8000

2. U<H 10,000
3. U3H Hlda
4, U3H fREam
Options :
21052934537. 1
21052934538. 2
21052934539. 3
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21052934540. 4

Question Number : 36 Question Id : 2105298796 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Under which of the following objectives of Millenium Development Goals, the progress in the

world as a whole has been least satisfactory?

1. Halting by 2015 and beginning to reverse the spread of HIV/AIDS

2. Eliminating gender disparity in primary and secondary education by 2015
3. Reducing the proportion of population below national poverty line by 2015
4. Reducing by half proportion of people who suffer from hunger by 2015
Options :

21052934541. 1

21052934542. 2

21052934543.3

21052934544. 4

Question Number : 36 Question Id : 2105298796 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TeIe: [Am el & (HEfceg 4 3 (58 Sesg @ /o 1q Gl A S th gt Ba I oD

Eie?

1. 94 2015 dd Be1d AR T T3 41 / USH & Bald & Widdad ol SRY
2. 94 2015 Ao WIYH® Ud AT 2181 H ARD SEEHl B gL Bl
3. 94 2015 T APTY TRl @M 4 D BT SEEI & SUd H HHI T
4. 99 2015 do Y@ Y Uifsd AfGTgl & 3Urd ol 318  &F Bl
Options :

21052934541. 1

21052934542. 2

21052934543 3

21052934544, 4
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Question Number : 37 Question Id : 2105298797 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Identify the correct sequence of Carbon (C) to Nitrogen (N) ratio in decreasing order in organic
waste material

A. Food waste

B. Leaves and foliage

C. Paper

D. Cow manure

Choose the correct answer from'the gptions given below

1.C,B, D A
2CADEB
3.B.C,D A
4B, D, C A
Options :
21052934545. 1
21052934546. 2
21052934547. 3
21052934548. 4

Question Number : 37 Question Id : 2105298797 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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DlaHd HARIE U H B1E4 (C) I A8 lio (N) i Ul & Il 3(dRlel $H H UgdlHu :
A. T 3R

B. Ul YT deige

C. PRI

D. 7T & 7ieR &1 WG

i feu ¢ famedl # 9 wel I 9+

1.C,B,D A
2CADB
3.B.C,DA
4B, D,C A
Options :
21052934545.
21052934546.
21052934547.
21052934548.

AW N =

adda

Question Number : 38 Question Id : 2105298798 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

According to Noise Pollution (Regulation and Control) Rules, 2000, the night time Noise
standard prescribed for Educational Institutions is

1. 55 dB (A)
2. 50 dB (A)
3.45 dB (A)
4. 40 dB (A)
Options :
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21052934549. 1
21052934550. 2
21052934551. 3
21052934552. 4

Question Number : 38 Question Id : 2105298798 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

@i uguv (fafga- ud Fgaom) a9 2000 & AR A H Aeiftie TRH & e Ryl af
AHD -

1. 55 dB (A)

2. 50 dB (A)
3.45dB (A)

4. 40 dB (A)
Options :
21052934549. 1
21052934550. 2
21052934551. 3
21052934552. 4

Question Number : 39 Question Id : 2105298799 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Given below are two statements Statement I: Volatile Organic Chemicals (VOCs) are
contaminants more commonly found in groundwater than in surface water

Statement li: VOCs are one of the criterion parameters to determine drinking water
quality

In light of the above statements,choose the correct answer from the options given below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement Il are false

3. Statement | is correct but Statement 1l is false
4, Statement | is incorrect but Statement Il is true
Options :

21052934553. 1

21052934554. 2

21052934555.3

21052934556. 4

Question Number : 39 Question Id : 2105298799 Question Type :: MCQ Option Shuffling :, No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Tdal sy ey e g

©YH-| ; AR Sld - WA (VOCs) FHRIG: Ydd oid o] SUsT Y-5ie § JHEIa: U |-
dTcl Faildd Ggu® dd o |

HYH-1| : UgwTa @ ot Hid B & T vocs i & Aueus S S U@ § |
Suddad HYAl & faie | it [deedl & U 98l 3w 91 :

1. Y | 3R 11 ST G B

2. Y | 3R || GFf Tad &

3. BYH-1 9 8, foog dY-11 7Ta7d B
4. DYH-| A g, foog HYH-11 9Bl 5
Options :

21052934553. 1

21052934554. 2

21052934555. 3

21052934556. 4

Question Number : 40 Question Id : 2105298800 Question Type a D
Correct Marks : 2 Wrong Marks : 0

Which of the following is NOT one of the Missions under National Action Plan on climate

ing : No Is Question Mandatory : No

change?

1. National Water Mission

2. National Mission on Energy Efficiency Improvement
3. Green India Mission

4. National Mission on Solid Waste Management
Options :

21052934557. 1

21052934558. 2

21052934559. 3
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21052934560. 4

Question Number : 40 Question Id : 2105298800 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

STy URdcH W P B Fior & S MafiRed § 9 o1 91 U AR e 8

1. PTG STAHIH

2. &1 Gaid YR W TP R
3. BId YRd fAEH

4. 319 IR Yey R IPE F2H
Options :

21052934557. 1

21052934558. 2

21052934559. 3

21052934560. 4

Question Number : 41 Question Id : 2105298801 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following ancient universities provided for the achifiglef a Spdeial slibject

‘Vajarayana Buddhism’ along with other subjects?

1. Mithila University

2. Jagaddala University
3. Nalanda University

4. Odantapuri University
Options :

21052934561. 1
21052934562. 2
21052934563. 3
21052934564. 4
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Question Number : 41 Question Id : 2105298801 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Fafafad 3 ¥ g U foyfaerag 3 o ovdl & 91y - 99 Owg aem digaa & e
B 1T IuT= HLGE] ?

1. AT fayfdee™

2. STgal [9yfaee

3. Arciel fayfdeey

4, TSGR fayfa=ag
Options :

21052934561. 1
21052934562. 2
21052934563. 3
21052934564. 4

Question Number : 42 Question Id : 2105298802 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In the university education system as prevalent now, whichieigheMoliowing

bodies/committees looks after formal approval of curriculiftandigoufSesef sttldf?

1. University Executive Council/Board of Management
2. Academic council of the concerned university

3. Board of studies

4. University Court

Options :

21052934565. 1

21052934566. 2

21052934567. 3

21052934568. 4

Question Number : 42 Question Id : 2105298802 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
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Correct Marks : 2 Wrong Marks : 0
I g yaferd © fayfaenc & e yumell # ursus ud ey & fqudl & fiuaiie
M & 9 B U Py et s 2

1. ZHaRIEl UReiagfed Ulug / ey Husd
2. YiYd fayfaee™ @1 2féie gRug

3. HLgF dle

4, fayfqenag g1

Options :

21052934565. 1

21052934566. 2

21052934567. 3

21052934568. 4

Question Number : 43 Question Id : 2105298803 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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The action plan arising from the Academic and Administrative Reforms Committee appointed
by the UGC with Prof A. Gnanam as its convener included which of the following?

A. Choice-based credit system

B. Vocationalization of higher education

C. Curriculum development

D. Deciding on the number of student-faculty contact hours during a semester
E. Skill-based courses and programmes

Choose the correct answer from th& options given below:

1. A, B and C only
2. A, C and D only
3. B, Cand D only

4. C, D and E only
Options :
21052934569. 1
21052934570. 2

21052934571. 3
21052934572. 4

Question Number : 43 Question Id : 2105298803 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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ggIoih & ©U H YR U {949 & 914 guiidl gR1 g 1 713 W60 Td UREH® 9UR
GiHfd © gH aral d giern | Fafeied | § 9 2o fear g 2

A. IO TR shige wumat

B. S=dcR 21471 & ST aTia

C. UTeushA fapra

D. T3 & &RM [aendf - Yo/ 4y el B g iR fHoig oAy
E. G&fT ST UI6gshH Td Ui

- feu T famedl & 9 9l S ;

1. ®3d A, B3R C
2. Pad A, C AR D
3. PaA B, C3IRD

4. HaaC, DIRE
Options :
21052934569. 1

21052934570. 2
21052934571. 3
21052934572. 4

Question Number : 44 Question Id : 2105298804 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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For the introduction of the concept of Total Quality Management (TQM) in universities, which
of the following will be considered helpful?

A. System’s thinking

B. Participatory management

C. Rigorous admission procedures

D. SWOC (Strength, Weakness, Opportunity and Challenge analysis)
E. Introduction of skill-development programmes

Choose the correct answer from the options given below:

1. A, B and D only
2. A, B and C only
3. B, Cand D only

4. C, D and E only
Options :
21052934573. 1

21052934574. 2
21052934575. 3
21052934576. 4

Question Number : 44 Question Id : 2105298804 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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faxfaeeral & o A[uas UdeH (cled Hiide] S-eHe (CIaUH)) B SHaURUN &I HRY 6 &
fore Fafaiad 5 9 Y 9gas 7 e

A foEr @t g9

B. HRTGRT UaYA

C. PR Ja uiehary

D. TF & 3l Tl ([dIbd, Gucidl, 3TaER ayl gldl a2y
E. G/l fasTH Ui &1 3R

i feu v famedl 7 9 wel I i

1. ®3d A B3R D
2. Pad A, B3R C
3. PaA B, C3IRD

4. HaaC, DIRE
Options :
21052934573. 1
21052934574.2

21052934575. 3
21052934576. 4

Question Number : 45 Question Id : 2105298805 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Given below are two statements
Statement |: Yoga is the union of body with the mind and of the mind with the soul

Statement |i: Both value education and environmental education can be integral to yoga
programmes being conducted at the school/college-level

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | is correct but Statement 1l is incorrect
4, Statement | is incorrect but Statement || is correct
Options :

21052934577. 1

21052934578.2

21052934579. 3

21052934580. 4

Question Number : 45 Question Id : 2105298805 Question
Correct Marks : 2 Wrong Marks : 0

o Is Question Mandatory : No
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fﬂ%a"rma:rﬁ:%w%‘:
HYA-1 - GHT IR & 1Y 7 BT 9YT 5 BT AT & 91y 9hie 2

HYA-1| ; {eg AR 16T o1 gaiaRor sienfia fRian aiHl faerey, Aeidency wR @ R
AL S Ig 1T GIUTH] & STd 81 Idhd & |

Suddad HYAl & faie | it [deedl & U 98l 3w 91 :

1. YA | 3R || aFf T8l el

2. B | 3R | gFf el T8 B

3. BYH-1 el &, fbd DYH-11 T ol &
4. DY-| Wel ol ©, oo BY-11 el
Options :

21052934577. 1

21052934578. 2

21052934579. 3

21052934580. 4

Sub-Section Number : 3
Sub-Section Id : 210529338
Question Shuffling Allowed : Yes

Question Id : 2105298806 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (46 to 50)

Question Label : Comprehension
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Read the given passage carefully and answer the questions that follow

If the vision of the learner in the initial period was predominantly as an empty organism and in
the next as an active organism, in the period that followed it was as a social organism. The
beliefs regarding the nature of the learner in the first period drew heavily from the
associationist view of the human being, in the second from the Gestalt and personalistic views;
later they also drew from the emerging social psychological and group dynamic views.

The child as learner as envisioned as a social organism, and learning was perceived as
occurring through interpersonal actions and reactions, each person in the classroom serving as
a stimulus for every other person. It is hard to overemphasize the impact on the classroom of
the "group climate” conceptsiand studies by Lewin and his associates beginning in the late
1930s, which were given added cogency by the ideclogical'issues of World War Il. Innumerable
treatises, textbooks, and programs applied these ideas and findings fo the classroom, and such

terms as "authoritarian”/ "democratic”, and "laissez-faire" became, for good orill, integral parts
of the educational vocabulary. Experimenters in the learning laboratery became concerned

with such previously unheard-of matters as “interperscnal cohsion” Band
processes”, and teachers in the classroom with 'socowat ! r
Concomitant changes in the image of the ideal classro u n f the child

is primarily a social organism, then the objectives of his education should be primarily social in

"small group

namics' .

character. And if learning is a social or group process, then a circular or group-centred
classroom where everyone faces everyone else (as once they had been forced to face only the
teacher) is the most sensible and practical, even necessary, learning environment. And this
indeed became a favourite image of the classroom.

Sub questions

Question Number : 46 Question Id : 2105298807 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

https://g28.tcsion.com/CAE/viewHtmIPDFAction.action

72/233



10/1/2020 https://g28.tcsion.com/CAE/viewHtmIPDFAction.action

The first vision of the child as a learner was

1. Personalistic

2. Social

3. Humanistic

4. Associationistic
Options :
21052934581. 1
21052934582. 2
21052934583.3
21052934584. 4

Question Number : 47 Question Id : 2105298808 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In the social organistic view, learning occurred through

1. Each individual acting as a stimulus
2. Reactionery measures

3. A non-competitive'environment

4. Each person holding fort for others
Options :

21052934585. 1

21052934586. 2
21052934587. 3
21052934588. 4

Question Number : 48 Question Id : 2105298809 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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The group climate of the classroom got reinforced by

1. Social issues

2. ldeclogical issues

3. Inter-personal issues
4. Individual issues
Options :

21052934589. 1
21052934590. 2
21052934591.3
21052934592. 4

Question Number : 49 Question Id : 2105298810 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In the learning laboratory, the focus shifted to

1. Production of textbooks

2. Creation of educational vocabulary
3. Democratisation of the process

4. Understanding group dynamics
Options :

21052934593. 1

21052934594. 2

21052934595. 3

21052934596. 4

Question Number : 50 Question Id : 2105298811 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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The author of the passage is in favour of the idea of

1. Vertical learning

2. Laboratory learning

3. Circular learning

4. Teacher-focussed learning
Options :

21052934597. 1

21052934598. 2

21052934599. 3

21052934600. 4

Question Id : 2105298806 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (46 to 50)

Question Label : Comprehension
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= f3u e e & ufew ofty wat & 39w S :

afe URfte s@Efy & siftrmedl & 9) ¥ Ued U 4 99 98 3 ¢ [ 98 Rad ofid & iR 9 &t
HA[Y T Ioiee 34 U 9fepd Sild & w0 § ufafld fovgr man i o 31 o@fy o 58 te aiiois
Siid & ¥4 ¥ Sudicyd a1 1411 Ugel afd J s(fermadl o) Hakl & 9 H T Jig<dare] fp
Y nyIiad I8 € Sl IRl Ay H I8 TRelcedel Ud Sieidig] SRl 4| 916 H goa 98
HFYROT YHITSIS TFHA71-1® Ud GYE TAETHdl B [daReRI ¥ Ad-4id 1|

HIHEHdl & €Y H dlcid ol Ue IS oiid JH1 741 € 9uT e &1 v 9gfdasd sl ue
ufafharall & Hawawy gfed s9geR & w0 H for 741 & ford &8 8 &1 iao faandf g &
fou IEue @ yie 9 &g [ gge @RaR) O Ydfdd s@yrvil 9yl |fdd ud 3Ad
YRl BRT 1930 & G H U U SigH], o Bdig fay gz & [aryRisl ¥ et gef
Y o9 e, 3% H&T 6/ R Us BHE & R H $8 dedl Aoy Ui skl ol e
e, Urey YRas| ud dibshal 8 98 [a9R ud iy gRuM $4FTE & aRRfGal & e
BV Yl 349 goid Liéd WAealaell § el IRE, idhdiiEe: U Sasediale) SR Uy Jsalbd]
a@:ﬁu&w&mmﬁw&@%ﬂ&maﬁwi T ygTEenel O yanTedl gd o

ol IYH! &N BT Yo 31 €Y 9 Qe ol 2
WW%#[WWWWEWWWWWWWW%W
U Bidl & widifes e el @f are glan [ae & e gH1 Usdl o, sidd wnifas ud
HEEIRS ol Te! Udild aidl MfUg T uRas &1 € J 1axa® Wi | STeshHy B 76 &1 39
UHR 1 Bid disng 1 94 Ui B

Sub questions

Question Number : 46 Question Id : 2105298807 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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¥ © dR | UyH ey Ud SifiiHedl & g d ol ;

1. JUfFTP

2. YIS

3. HHAg

4. grgadf
Options :
21052934581. 1
21052934582. 2
21052934583.3
21052934584. 4

Question Number : 47 Question Id : 2105298808 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

gHToS o] &1 efF 4 3iftRH &1 died g Hgfiad 5 8 as s e dic 2

1. TP Aiad Se/U® & &9 H haEid eidl &
2, Uil g 3ud

3. U iR - Ufqege araman

4, Yddp ofad GOl o [eie HidiHit Bl &
Options :

21052934585. 1

21052934586. 2

21052934587. 3

21052934588. 4

Question Number : 48 Question Id : 2105298809 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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D&l BT THg dIdiaryl fhdds gRT Uefeid gidl @ ?

1. QTS JH

2, 3@ AMc

3. 3 - 3giod® gHd
4. fGaTd HHE
Options :
21052934589. 1
21052934590. 2
21052934591. 3
21052934592, 4

Question Number : 49 Question Id : 2105298810 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

HFEFTH TERTRITE § 9 &% HdiRd g3l

1. US| & JAIG-@] AR

2. Q&0 WeagH & God DI AR

3. U1 & Tidba-1mR0 Bl SR

4, g B Tiaiierdr @l Saald $3- o1 3R
Options :

21052934593. 1

21052934594, 2

21052934595. 3

21052934596. 4

Question Number : 50 Question Id : 2105298811 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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1. FEaTeR JHEH

2. yarTRIen e

3. gaiig HATEETH

4, HEUF hiad A
Options :

21052934597. 1
21052934598. 2
21052934599. 3
21052934600. 4

Section Id :

Section Number :

Section type :

Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :
Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Question Number : 51 Question Id : 2105298812 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Which of the following oligopoly firms architectural framework is often described as the First-
Mover Advantage Model?

1. The Cournot Model

2. Stackelberg Model

3. The Bertrand Model

4. The Kinked Demand Curve Model
Options :

21052934601. 1

21052934602. 2

21052934603. 3

21052934604. 4

Question Number : 51 Question Id : 2105298812 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
fgfafaa o O fog scufiaR] Y IR cid ®f 9gHl hee Jai Usdicyl Hled oel uldl &

7

1. G ®RAIC dlsd

2. EHaat Alsd

3. gcis Hisd

4. T fhas feais md Aisa
Options :

21052934601. 1
21052934602. 2
21052934603. 3
21052934604. 4

Question Number : 52 Question Id : 2105298813 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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What is NOT an assumption underpinning the rational decision-making model?

1. Incomplete information

2. An agreed goal

3. A structured problem

4. High level of certainty regarding the environment
Options :

21052934605. 1

21052934606. 2

21052934607. 3

21052934608. 4

Question Number : 52 Question Id : 2105298813 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

diiched 0T B & Alsa d Had H HElRgT H I 71 380 78| 612
1. g0} a1

2. god a&d

3. Yohaieyd ga

4, GTia0] & 99 § Sed T i+ dddl
Options :

21052934605. 1

21052934606. 2

21052934607. 3

21052934608. 4

Question Number : 53 Question Id : 2105298814 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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The problems arising from expression in communication are called?

1. Spatial barriers

2. Semantic problems
3. Wrong Assumptions
4. Selecting perception
Options :

21052934609. 1
21052934610. 2
21052934611. 3
21052934612. 4

Question Number : 53 Question Id : 2105298814 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Hun @t sfiefad J sf-ardl 9 ol daaldl 6 7

1. RIS Y

2. AT G
3. 7T SHHURUMI
4, ATHNYE 994
Options :
210529346009. 1
21052934610. 2
21052934611. 3
21052934612. 4

Question Number : 54 Question Id : 2105298815 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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What is a paradigm?

1. A theoretical assumption

2. An illustration

3. An example serving as a3 model
4. A theoretical model

Options :

21052934613. 1

21052934614. 2

21052934615. 3

21052934616. 4

Question Number : 54 Question Id : 2105298815 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

UfaH T E 7

1. U Yegifde Gdyrom

2. Ud IGIeu

3. U% 3aIeul ol A130 @l BIF. 5B
4, Ush Jgifas disd

Options :

21052934613, 1

21052934614. 2

21052934615. 3

21052934616. 4

Question Number : 55 Question Id : 2105298816 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Which one of the following comprises people with complementary skills committed to a
common purpose, common performance goals and an approach for which they hold
themselves mutually accountable?

1. Group

2. Team

3. Organisation
4. Firm
Options :
21052934617. 1
21052934618. 2
21052934619. 3
21052934620. 4

Question Number : 55 Question Id : 2105298816 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

UF __ UW oigadl § Sl & e 1R S0 81 5 Uh GHee 3590 A aHied or
yvare Tadl & Ui GEitd B SR o UH1 SiTH BT g, 0 g 3t BLIRRI 3azarl
IIF?TEET

1. We

2.4

3. Hr8H

4. 4
Options :
21052934617. 1
21052934618. 2
21052934619. 3
21052934620. 4

Question Number : 56 Question Id : 2105298817 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Demonstration type of training method is used to train

1. Supervisors

2. Workers

3. Managers

4. Senior Executives
Options :
21052934621. 1
21052934622. 2
21052934623. 3
21052934624. 4

Question Number : 56 Question Id : 2105298817 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TR HUTel &1 He=iH Ub TR (e WRISm H Ugdd Bial ¢ ?

1. Gddefel

2. BRI

3. HEYD

4. IRy BRUTSH!
Options :
21052934621. 1
21052934622. 2
21052934623. 3
21052934624. 4

Question Number : 57 Question Id : 2105298818 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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One trait that dominates a personality so much that it influences nearly everything a person
does is a

1. Global Trait
2. Specific Trait
3. Cardinal Trait
4, Central Trait
Options :
21052934625. 1
21052934626. 2
21052934627. 3
21052934628. 4

Question Number : 57 Question Id : 2105298818 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

98 W& ol {4l safddw U¥ 59 d¥e oldl Yedl & 10 39D deia-ddia Sl il & Ulidd ol

B

1. YTy Safor
2. fafay Qe
3. U <18
4, B1T T
Options :

21052934625. 1
21052934626. 2
21052934627. 3
21052934628. 4

Question Number : 58 Question Id : 2105298819 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Personality tests are given to measure a prospective employee’s motivation to function in a
particular working environment. There are various tests designed to assess a candidate’s
personality. Name the test which measures one’s self-sufficiency, neurotic tendency, sociability,
introversion and extroversion, locus of control and self-confidence

1. The Bernreuter Personality Inventory

2. The Thematic Apperception Test

3. The Thurstone Temperament Survey

4. Minnesota Multiphasic Personality Test
Options :

21052934629. 1

21052934630. 2

21052934631. 3

21052934632. 4

Question Number : 58 Question Id : 2105298819 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Sfckiwd I U Sragiiel gaiaR vl {92y § S $i- of
AU & 1T foba STl & | b sl SHiTcaR o ohidad &
§| I U0 B ATH Fald Sl [l oia Bl SR,
HR STy - U4, (a0 fdg SR 31e fary &1 9rg- &l &

1. @ cdfded ol

2. faug (mfem) uziar wiem

3. Y YT Ha&u

4. firdier ggavuliy fda gdiam
Options :

21052934629. 1

21052934630. 2

21052934631. 3

21052934632. 4
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Question Number : 59 Question Id : 2105298820 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is a position from which someone is unlikely to move to a higher

level of work responsibility?

1. Career Goals

2. Career Path

3. Career Progression
4, Career Plateau
Options :
21052934633. 1
21052934634.2
21052934635. 3
21052934636. 4

Question Number : 59 Question Id : 2105298820 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

7 U R & oei € el afta & i s =R & o cliig o G0 ¥ sga @ QugT = 8

2. BRI Y

3. BRI URRE
4, DRIREE
Options :
21052934633. 1
21052934634.2
21052934635. 3
21052934636. 4

Question Number : 60 Question Id : 2105298821 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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The balanced scorecard developed by Kaplan and Norton contains four dimensions. Which
one out of the following is one of the dimensions of the balanced scorecard?

1. Competitor-Analysis

2. Customer service

3. Human Resources

4. Production Management
Options :

21052934637. 1
21052934638. 2
21052934639. 3
21052934640. 4

Question Number : 60 Question Id : 2105298821 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

PYT AR AT gRI [adigd (8 ¢ Tgieid - 3 - U7 H aR A & | Hufaiad 8 o di--a
Gqfcid ofd - U3 &1 U HGHE 6 ?

1. Uil fa=ayo
2. ATgd Yal

3. A1g THEH

4, 3G UsEH
Options :
21052934637. 1
21052934638. 2
21052934639. 3
21052934640. 4

Question Number : 61 Question Id : 2105298822 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Which one of the following means a mandatory settlement of an industrial dispute by a labour
court or a tribunal?

1. Collective bargaining
2. Arbitration

3. Conciliation

4. Adjudication
Options :

21052934641. 1
21052934642. 2
21052934643. 3
21052934644. 4

Question Number : 61 Question Id : 2105298822 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Ffetaa 4 O fogmr o e 39 - me a7 e gRi ! Seiis dag ol A=ad
A S 7

1. gHfes® dears
2. HITH

3. 4%

4, TG
Options :
21052934641. 1
21052934642. 2
21052934643. 3
21052934644. 4

Question Number : 62 Question Id : 2105298823 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Who among the following has developed the Institutional Theory of Work-life Initiative?

1. Daft and Weick

2. Milliken et al

3. Dimaggio and Powell
4, Pfeffer and Salancik
Options :

21052934645. 1
21052934646. 2
21052934647. 3
21052934648. 4

Question Number : 62 Question Id : 2105298823 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Fofeiad o 4 fogd o Siiad Ugd ® GRS fisid @l Aol aied ¢ 2

1. BT 3R d5@

2. fafeed wed

3. fsafar 3R uida
4, T SR G
Options :
21052934645. 1
21052934646. 2
21052934647. 3
21052934648. 4

Question Number : 63 Question Id : 2105298824 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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As a regulatory norm in India, a listed company in ordinary course is required to report
quarterly results within how many days of the end of the quarters?

1. 45

2.15

3.30

4.90

Options :
21052934649. 1
21052934650. 2
21052934651. 3
21052934652. 4

Question Number : 63 Question Id : 2105298824 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

YRa fafFame o & AFUR 9 Ui 1 fodl Qids Sl gR1 fdarel of SHit
& fopa fet & iR Tyt oo Fedid @t siifga g e 7

1. 45

215

3.30

4. 90

Options :
21052934649. 1
21052934650. 2
21052934651. 3
21052934652. 4

Question Number : 64 Question Id : 2105298825 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following is excluded from the responsibility of the International Accounting
Standards Board (IASB)?

1. Harmonization and convergence of Accounting Standards.

2. Promulgation and adaption of Generally Accepted Accounting Principles (GAAP).

3. Promulgation of International Accounting Standards.

4. Promulgation and gaining acceptance of International Financial Reporting Standards (IFRS).
Options :

21052934653. 1

21052934654. 2

21052934655. 3

21052934656. 4

Question Number : 64 Question Id : 2105298825 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Fafeiad 3 4 oH So-THT TRIS i & es 61 (315 U U &) Bl Glidd 9ol & 2

1. TRAURIET HHa! o] GIRIGIp 0T HIX HTHER0

2. I U ¥ i i, Heidl o1 Hee iR i) (Fiver

3. A=RIPIY i HiFI Bl YA

4, SfTRIPTY faeiia RUIST HHS! (315 TP SR TH) Bl TR0 SR LT Gl e
Options :

21052934653. 1

21052934654. 2

21052934655. 3

21052934656. 4

Question Number : 65 Question Id : 2105298826 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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A firm’s current asset and current liabilities are Rs. 1600 and Rs.1000, respectively. How much
can it borrow on a short-term basis without reducing the current ratio below 1.257

1. Rs 2000

2. Rs 1280

3. Rs 1400

4. Rs 1080
Options :
21052934657. 1
21052934658. 2
21052934659. 3
21052934660. 4

Question Number : 65 Question Id : 2105298826 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

ol T o1 TTe] NRGGT SR FieL caaid SHH=E: 1600 . HR 1000%. & , Te] Si4uld ®f 1.25 9
A1 T4 SR 96 Acaola® YR I [Hadl SURT o 9odl & ?

1. 2000 ¥+,

2. 1280 ¥,

3. 1400 ¥,

4. 1080 ¥,
Options :
21052934657. 1
21052934658. 2
21052934659. 3
21052934660. 4

Question Number : 66 Question Id : 2105298827 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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From the information given below, find out the efficiency ratio of the firm's operations:
Budgeted production: 880 Units, Actual production: 750 Units
Standard hours per unit: 10 hours, Actual working hours; 6000 hours

1.125%

2. 80%

3. 75%

4. 120%
Options :
21052934661. 1
21052934662. 2
21052934663. 3
21052934664. 4

Question Number : 66 Question Id : 2105298827 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

aue Qo T B & Bl o1 Gafdl 0T Uik Y :

T UG ; 880 SPI5, ARGIGH 3G ; 750 SPTS a a
Ufd S@15 9F ¢ : 10 ¢, IRAd® $M °e : 6000 °¢

1. 125 %
2.80%
3.75%

4,120 %
Options :
21052934661. 1
21052934662. 2
21052934663. 3
21052934664. 4
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Question Number : 67 Question Id : 2105298828 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given the interest rate on a 1-year loan is 14.5 per cent and inflation is expected to be 6.5 per

cent in India. What should be the interest rate on a 1-year maturity loan in Thailand when the

expected inflation rate is 8.5 per cent?

1. 18.35 per cent
2. 14.65 per cent
3. 16,65 per cent
4, 16.35 per cent
Options :
21052934665. 1
21052934666. 2
21052934667. 3
21052934668. 4

Question Number : 67 Question Id : 2105298828 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Ife 4R H U Y & 01 IR &A1 GX 14.5 HIRI SR TRl SUIRIGRE S LI & o
8.5 UTRIRIe G RTEPIT oX &1 UR 1 T8 &1 URUD IR U15c1S 5 o1t G2 ol gH1 d1ey 7

1. 18.35 Uldgd
2. 14.65 Ufa=rd
3. 16.65 Ufd=rd
4. 16.35 UiA=d
Options :

21052934665. 1
21052934666. 2
21052934667. 3
21052934668. 4
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Question Number : 68 Question Id : 2105298829 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
The linear relation between the excess return on individual securities and the overall market at
every point in time is known as

1. Capital Market Line (CML)

2. Security Market Line (SML)

3. Security Characteristic Line (SCL)
4. Market Specification Bias (MSB)
Options :

21052934669. 1

21052934670. 2

21052934671. 3

21052934672. 4

Question Number : 68 Question Id : 2105298829 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

QU Fia{adl T AT Ui 3R Ud® §8d 997 SToR & §id 16 Y9y BeqILE -

1. Goft 1ok T (3 8 ga)

2. Hfayfd SR T (U0 U Ua)

3. wferyfa fase v ey 4 we)

4. 3eR gy EE EE TE )

Options :

21052934669. 1
21052934670. 2
21052934671. 3
21052934672. 4

Question Number : 69 Question Id : 2105298830 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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What should be Economic Order Quality (EOQ) for procurement of 20000 units annually at a
price of Rs.12 per unit for consumption in production, when the cost per order is Rs.2000 and
the inventory carrying cost is 25 per cent of inventory value?

1. 6000 units
2. 5164 units
3. 6145 units
4. 5416 units
Options :
21052934673. 1
21052934674.2
21052934675. 3
21052934676. 4

Question Number : 69 Question Id : 2105298830 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

T TR SIS RTT R000% Bl SR "Iyl alg® TrTd, Hiage! 9ed $125 Uiagg &l o Sdre H
GUd & o Uid gie 3 12 @ o2 4 Uid 99 2000 g &1 @la & L e e oikam 5
I &) F1 [T 918U 2

1. 6000 gHE
2. 5164 g
3. 6145 g
4, 5416 gHIC

Options :

21052934673. 1
21052934674. 2
21052934675. 3
21052934676. 4

Question Number : 70 Question Id : 2105298831 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Which one of the following describes the relationship between the market value of a firm's
securities and the replacement cost of its physical assets?

1. Tobin's g-ratio

2. Residual analysis
3. Retention ratio

4. Book to price ratio
Options :
21052934677. 1
21052934678. 2
21052934679. 3
21052934680. 4

Question Number : 70 Question Id : 2105298831 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Fofeiad o U foud gRT @l BH of Glauiadl & SoR Hed SR SUml dikids Hliadl &
UTRUTOS AT & dig a8 & (dau SUae] Harg] oidl & ?

1. e & - SUTd
2. HaRE fazayu
3. UfdHIRoT 3g1d

4, 951 Hed U
Options :
21052934677. 1
21052934678. 2
21052934679. 3
21052934680. 4

Question Number : 71 Question Id : 2105298832 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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What are the segmentation variables used to segment the market for toothpaste as a product?

1. Demographic Segmentation Bases
2. Psychological Segmentation Bases
3. Behavioural Segmentation Bases
4. Geographical Segmentation Bases
Options :

21052934681. 1

21052934682. 2

21052934683. 3

21052934684. 4

Question Number : 71 Question Id : 2105298832 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

UP IdIG & ¥ H YU o [dU0H & Welg- og Ygad Welel Uikda Fl ¢ ?

1. O GRS g WagH HER
2. FFIGTIH® Gaad HUR

3, JENRE Wald HIUR
4, HFTITa® W3 YR
Options :

21052934681. 1
21052934682. 2
21052934683. 3
21052934684, 4

Question Number : 72 Question Id : 2105298833 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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The stages of a turnaround process are

1. Realignment, Retrenchment, Recovery
2. Realignment, Stabilize, Recovery

3. Reassess, Stabilize, Survival

4, Reassess, Retrenchment, Survival
Options :

21052934685. 1

21052934686. 2

21052934687.3

21052934688. 4

Question Number : 72 Question Id : 2105298833 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

ud-f&fa ggrell Uy o whU B :

1. ggTeH, Sedl, ey

2. g, B, gy

3. Qi W, 3neiligdl
4, g, BeAl, Jueiliddl
Options :

21052934685. 1

21052934686. 2

21052934687. 3

21052934688, 4

Question Number : 73 Question Id : 2105298834 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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In Porter's Generic Strategies Model, a focus strategy involves

1. Selling a limited range of products.

2. Selling to a narrow customers segment.

3. Selling to one region only.

4. Selling simple products that are cheap to produce.
Options :

21052934689. 1

21052934690. 2

21052934691. 3

21052934692. 4

Question Number : 73 Question Id : 2105298834 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Ui} & SHR® ool Alsa H Bihd Pl H 3l 6 :

1. T 9 & Iaral &1 fa@l

2. it we® wHg | f@wl

3. Had Ue Yoy o fadl

4, 3 GIHRU SIS @1 (0] foits ScdIG U3 Sied arTd $rd g
Options :

21052934689. 1

21052934690. 2

21052934691. 3

21052934692. 4

Question Number : 74 Question Id : 2105298835 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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This system of distribution channel consists of producers, wholesalers and retailers acting as a
unified system. One channel member owns the others, has contracts with them, or wields so
much power that they must cooperate. Name this system of channel distribution

1. Conventional distribution channel.

2. Vertical marketing system (VMS).

3. Consumer distribution system.

4. National marketing distribution system.
Options :

21052934693. 1

21052934694. 2

21052934695. 3

21052934696. 4

Question Number : 74 Question Id : 2105298835 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

§ J-Ia @I 39 WUl 5 Sdied, didbiddhal SR Qe fashdl diH! 99 & 0 § 1Y $Hd
€1 o0 & Ud Yo GuR @l Wil gidl & 4R 98 30 Yk fad
D UOR &l & b 3 SHI9Y H WearT] Hid-l W&+ ol

TH T

1, NORATd §ed 94d

2. 3FieR fguuE yomed (@ TH Th)
3. SUYTET e Y]

4, APTY fquuiT ge- yore
Options :

21052934693. 1

21052934694, 2

21052934695. 3

21052934696. 4

Question Number : 75 Question Id : 2105298836 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
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Correct Marks : 2 Wrong Marks : 0

Complex Buying Behaviour is characterised by

1. Products are of low risk but the involvement level is high.

2. When the level of involvement is high and the significant difference between brands is low.
3. When the level of involvement is low and significant difference among brands is high.

4. When the level of Invelvement is high and significant difference among brands is high.
Options :

21052934697. 1

21052934698. 2

21052934699. 3

21052934700. 4

Question Number : 75 Question Id : 2105298836 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Sifed %Y oodeN @) [a3udl & ;

1. WG| @I FIGH B & Uld Yaddl &l ©R AL 5l

2. OId Hud] 1 W) HiH® el 3R 1| & 6l Seehe- 14 e ol ol
3. 5ig HeTdl 1 &Y ®H &l SR sis! H Seeka- Sz HTHd ol |

4, 59 SO BT SR AP B AR Fia! ¥ Seai@ S A e!

Options :

21052934697. 1
21052934698. 2
21052934699. 3
21052934700. 4

Question Number : 76 Question Id : 2105298837 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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A Brand Extension Strategy refers to

1. Extending existing brand names to new forms of an existing product category.

2. Extending an existing brand name to a new or modified product in a new category.
3. Coming out with different brands in a given product category.

4. All the above

Options :

21052934701. 1

21052934702. 2

21052934703. 3

21052934704. 4

Question Number : 76 Question Id : 2105298837 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

§i's fa%R U § ard © 4

1. TIe[e] §iiS Al 1 AR fhl Hieal Sl 401 & 7T F Ul 96 Bl
2. Higjel §ifs AT @1 [G%R A5 4t § &1 a1 9R0ifid Idel do dH)
3. Tl Sare vl -1 sisi & Uiy S

4, IRIed gt

Options :

21052934701. 1

21052934702. 2

21052934703. 3

21052934704. 4

Question Number : 77 Question Id : 2105298838 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Coke has started coke parlours - the Red Lounge - for tech crazy adolescents called experience
outlet. What type of differentiation strategy can this be called?

1. Differentiating the service utilizing Brand Image.
2. Differentiating through People.

3. Differentiating through Process,

4. Differentiating through Physical Evidence.
Options :

21052934705. 1

21052934706. 2

21052934707. 3

21052934708. 4

Question Number : 77 Question Id : 2105298838 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

DI - URIFI®! & Uid SIqeril e ard [DRIRT & [T ®id Gk - 16 35 tidel - ®I ol Bl

el 2U foy bR @l fadad SRl del ol 9odl & 7

1. 9iS @1 i3 &1 U & g4l fByes
2. ATl & A1 H O faYed @

3. UftpaT & H1e09 § fa¥ed @

4. Hifdep giHT & A1eEH ¥ faHed o
Options :

21052934705. 1

21052934706. 2

21052934707. 3

21052934708, 4

Question Number : 78 Question Id : 2105298839 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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The CRM Strategy adopted by Big Bazar in India is all about

1. Frequency Marketing Program.

2. Club Membership Program.

3. Structural Relationship Program.
4. Experiential Relationship Program
Options :

21052934709. 1

21052934710. 2

21052934711. 3

21052934712. 4

Question Number : 78 Question Id : 2105298839 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

YRA H [ §9iR GRT 3[UAG A 9 AR 05 S HafiEd ® deg 1t -
1. 3f1gf fauue sriey

2. 509 9a9al dEH

3. UaRTH® S99 STHHH
4, IS 989 PrdeH
Options :

21052934709. 1
21052934710. 2
21052934711. 3
21052934712. 4

Question Number : 79 Question Id : 2105298840 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Six Sigma level of Quality management results in

1. 34 defects per one million.
2. 3.4 defects per million.

3. 3.0 defects per million.

4. 3.2 defects per million.
Options :

21052934713. 1

21052934714. 2

21052934715. 3

21052934716. 4

Question Number : 79 Question Id : 2105298840 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

UG YeeH & S Ol WL &l YR el 8idl & ?

1. Uid T fafergd 34 Fiedi
2. Ufd U fafea 3.4 3fedi
3. Ufd U fafer 3.0 3T
4, Ufd to fafegd 3.2 FfEdi
Options :

21052934713, 1
21052934714, 2
21052934715. 3
21052934716. 4

Question Number : 80 Question Id : 2105298841 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Automobile Assembly or Manufacturing follows which one of the following types of layout?

1. Process Layout.

2. Fixed-Position Layout.

3. Product-Focused Layout.
4. Cellular Layout

Options :

21052934717. 1
21052934718. 2
21052934719. 3
21052934720. 4

Question Number : 80 Question Id : 2105298841 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

WWMWﬁmﬁﬁWWEEﬂﬁmﬂ T dd E i

1. UihgRTd JiUH ey

2. Fgg =F i e
3. SWIG-hiad Ao
4 UDIgig Hde
Options :
21052934717. 1
21052934718. 2
21052934719, 3
21052934720. 4

e

Question Number : 81 Question Id : 2105298842 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Which one of the following is NOT a method of primary data collection?

1. Interview

2. Questionnaire
3. Delphi method
4. Documents
Options :
21052934721. 1
21052934722.2
21052934723. 3
21052934724. 4

Question Number : 81 Question Id : 2105298842 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

fufafaa § 4 o1 mufas sl s QiU a8 § 7

1. I&Tch R

2. gyTaret

3. Som fafy
4, Uc@
Options :
21052934721. 1
21052934722. 2
21052934723. 3
21052934724. 4

Question Number : 82 Question Id : 2105298843 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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One use of a regression line is

1. To determine if any x values are outliers.

2. To determine if any y values are outliers.

3. To determine if a change in x causes a change in y.

4. To estimate the change in y for a one-unit change in x.
Options :

21052934725. 1

21052934726. 2

21052934727. 3

21052934728. 4

Question Number : 82 Question Id : 2105298843 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TYTHA 38T &1 U TN & -

1. U8 AGURUN ST b I BIS x 7 SEREiE 2|

2. U8 AR B3] fdi &l s y A Sl &

3. TE TR BT [& ol x & Bl aTg el Uikad- 4 y Hepig gieaas ciar el
4. x ¥ UP Il Uded o y H giH drci YR ol Gl Al

Options :

21052934725. 1

21052934726. 2

21052934727. 3

21052934728 4

Question Number : 83 Question Id : 2105298844 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following international Trade theories, the ' Leontief Paradox ' pertains to

1. Comparative Advantage theory.
2. Product life cycle theory.

3. Heckscher-Ohlin theory.

4. Absolute Advantage theory.
Options :

21052934729. 1

21052934730. 2

21052934731. 3

21052934732. 4

Question Number : 83 Question Id : 2105298844 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

feriifew tretmr Fofiieq A @ 5w sy R Rigle 8w 2 -

1. gaHIHS o gl
2. 3d1g Silgd 9% [gid
3. - 3o fugid

4. guf oy fagia
Options :

21052934729. 1
21052934730. 2
21052934731. 3
21052934732. 4

Question Number : 84 Question Id : 2105298845 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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FDI in multi-brand retailing in India is

1. Capped to 49 per cent and had to approach the Department of Industrial Policy and
Promotion (DIPP) for permission.

2. Capped to 51% but not under Automatic Route in India.

3. Capped to 51% but under Automatic Route.

4. Capped to 51% but under Automatic Route with few strings attached.

Options :

21052934733. 1

21052934734. 2

21052934735. 3

21052934736. 4

Question Number : 84 Question Id : 2105298845 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

YR H Aediais Werl AUR H U i 35 :

1. 49 UiEId 90 Wit & SIR 59 oY SATeliifie Hifa ud Sae favm @ s did) 3 sEaf
REIERIE

2. YRA § 51 TR @ GIHd & fovg Sadiiei 5F1 & e Tk |

3. 51 W= de fid & fard adiied a1 & Sfaiid Mdm of

4. 51 Yf=rd ao W4 & fbod o Idl & 91y Waifad 9F1 & Aaiid A 8|

Options :

21052934733. 1

21052934734. 2

21052934735. 3

21052934736. 4

Question Number : 85 Question Id : 2105298846 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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The current Foreign Trade Policy (FTP) announced by Government of India covers the policy
period

1.1995 - 2000
2. 2000 - 2005
3. 1996 - 2001
4. 2015 - 2020
Options :

21052934737. 1
21052934738. 2
21052934739. 3
21052934740. 4

Question Number : 85 Question Id : 2105298846 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

YRd THR N "iiid drfac=l e91aR Hifd (8% <1 ) & Hifa @ d deidda s 2

1. 1995-2000
2. 2000-2005
3. 1996-2001
4, 2015-2020
Options :
210529347371
21052934738. 2
21052934739.3
21052934740. 4

Question Number : 86 Question Id : 2105298847 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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An Information system that captures and records fundamental business events is a(n)

1. Transaction Processing System.
2. Executive Information System.
3. Decision Support System.

4. Expert System.

Options :

21052934741. 1

21052934742. 2

21052934743. 3

21052934744. 4

Question Number : 86 Question Id : 2105298847 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

1. PRIGR UH0T YoM
2. SRGIR] a1 Horcil
3. o gaY= gure

4, Togreg Tl
Options :
21052934741 1
21052934742. 2
21052934743. 3
21052934744, 4

Question Number : 87 Question Id : 2105298848 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

https://g28.tcsion.com/CAE/viewHtmIPDFAction.action 115/233



10/1/2020 https://g28.tcsion.com/CAE/viewHtmIPDFAction.action

Under the Sick Industrial Companies (Special Provision) Act, 1985, a sick Industrial company

means

1. Being a company registered for not less than 10 years which has at the end of any financial
year accumulated losses equal to 50% of its net worth.

2. Being a company registered for not less than 5 years which has at the end of any financial
year accumulated losses equal to or exceeding its entire net worth.

3. Being a company which has accumulated losses equal to its entire net worth.

4. Being a company which immediately after start, has accumulated losses which eat up 50%
of its net worth.

Options :

21052934745. 1

21052934746.2

21052934747. 3

21052934748. 4

Question Number : 87 Question Id : 2105298848 Question Type : MCQ i ffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

S0 SR dufaal (O Susy) HfAfHgH 1985 & 3

1. DT Il 10 98 U 3HH A4 4 Golipd of AR (ol el
HUH! & Hed Hid © 50 UGG & GHH B

2. ST Gl 5 94 U 3= fafd O Yolipd ol 3 il fa<iia a4 &t ofq 4 3ga dfud gl s9a
Gyl (e & IO SYdl 399 S gl

3. HUAT forgdeT Gfad Ure] 39¢ 999 (e dia & 999 gidl o

4, DY forid HRY B4 & dabld alg 39d Yidd uiel Hed Hid & 50 % d® Ygd Tl 6l
Options :

21052934745. 1

21052934746. 2

21052934747. 3

21052934748, 4
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Question Number : 88 Question Id : 2105298849 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Disruptive innovations in business are those that

1. Create a new market by offering value products.

2. Involve often, new technology or a new business model to offer value to the market.
3. Displace established market-leading firms, products and alliances.

4. All of the above.

Options :

21052934749. 1

21052934750. 2

21052934751. 3

21052934752. 4

Question Number : 88 Question Id : 2105298849 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

39 H fawdge a8 B (928dl & -

1. 39% SUGRT T qega Sdlel &1 URImR1 & HIEH T TU et ail -HIe e st e

2. SHH TR ISR H HId &I UDHT DA B 1678 75 UIRID! 94dl T8 4T Tgen @1 o e ol
=iy foodn Sl g

3. 399 IR © RUIfUd Spmfl BHf, 3dig SR TadYH &I f[awiiud faar Srar 8|

4, 3uad |
Options :

21052934749. 1
21052934750. 2
21052934751. 3
21052934752. 4

Question Number : 89 Question Id : 2105298850 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Marketing Support/Assistance to MSMEs for Bar Code allows

1. Reimbursement of 80% of the one-time registration fee and 80% of the annual recurring
fee for first three years paid by MSMEs to GS1 India for bar coding.

2. Reimbursement of 75% of the one-time registration fee only paid by MSMEs to GS1 India
for barcoding.

3. Reimbursement of 75% of the recurring fee for first three years paid to GS1 by MSMEs for
barcoding.

4. Reimbursement of 75% of the one-time registration fee and 75% of the annual recurring
fee for first three years paid by MSMEs to GS1 India for barcoding

Options :

21052934753. 1

21052934754.2

21052934755. 3

21052934756. 4

Question Number : 89 Question Id : 2105298850 Question Type : MCQ Option
Correct Marks : 2 Wrong Marks : 0

ffling : No Is Question Mandatory : No
IR ®I8 o oL 9&a, 1Y SR H9 3ol @ [990e e
I &7

1. U9 UH UH 3 5N o {3 71U Us R Ui Xem & 80% TUT of UF 1 3301 & aR BifeT
o foT¢ T o9 991 § Ued difties Siddi Yod & 80% @I Widgfd

2 THUE TH 3 gRT R SIeT & fag off T 1 2fea &f Yo e 18 ue g=d Uofia oo &
75% @1 ufagfd

3. UH U U9 § gRT aR $ifeT & fog off 0d 1 2fear &1 ugd o avf & Yo e mu snadf gee
& 75% I Ufayfd

4. U% 4d Goilg- J[ed B 75% 4T ol TF 1 3701 I 9 DITET & fo18 TyH o 991 | ued
qiftfes 3f1ad Yo b 75 % DI Ufagfd

Options :

21052934753 1

21052934754. 2
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21052934755.3
21052934756. 4

Question Number : 90 Question Id : 2105298851 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The MSMED Act to cover micro, small and medium Industries in India was introduced in

1. June, 2006

2. June, 2005

3. June, 2007

4. August, 2008
Options :
21052934757. 1
21052934758. 2
21052934759. 3
21052934760. 4

Question Number : 90 Question Id : 2105298851 Question Type.: MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

YRd | g&H, T 3 90 SgH & AHd B & (04 UF BG.0H 3 SLIAE HGH &9 Gl g1 7

1.9, 2006

2. 94, 2005 9
3.9, 2007 9

4, 3T, 2008 H
Options :
21052934757. 1
21052934758. 2
21052934759. 3
21052934760. 4

Question Number : 91 Question Id : 2105298852 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
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Correct Marks : 2 Wrong Marks : 0

The approaches to management thinking which were developed during the first half of the
20" century are:

A. Scientific management, general administrative, quantitative and contingency approach.
B. Scientific management, general administrative, quantitative and organizational behaviour.
C. General administrative, globalization, organizational behavicur and quantitative.

D. System approach, scientific management, General administrative and organizational
behaviour.

Choose the correct answer fromthe options given below:

1.Aand B
2.BandC
3. Bonly

4. D only
Options :
21052934761. 1
21052934762. 2

21052934763. 3
21052934764. 4

Question Number : 91 Question Id : 2105298852 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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20 df Ydlled] @1 YE3Td H HeeH fdaq & uld [dsiid [ eRain sa ueR §
A. ST YEEE, THERT YIS, GROTHIES iR 6 ® efPe

B. 33® UdeH, IE WSS, AETES AR EE® AdeR

C. THRI WA, 3@, SEATHS HdgR 3K 36
D. YOG P 0], a3—o UaeH, 9 WS, 3R eAide ddgi
1 feu 7 fasedl # 9 951 3w 9iFY

1. H3d A 3R B
2. PaaB AR C
3. $ad B

4, HAAD
Options :
21052934761. 1
21052934762. 2
21052934763. 3
21052934764. 4

Question Number : 92 Question Id : 2105298853 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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In a rising income scenario, the obvious decision choices of firms having very low-income
elasticity for their products would be

A. Search for new markets

B. Product innovation

C. Discontinuation of product line

D. Product line extension

E. Exporting

Choose the most appropriate answer from the options given below:;

1. A, B and C only
2. C, D and E only
3. B and D only

4. B and E only
Options :

21052934765. 1
21052934766. 2

21052934767. 3
21052934768. 4

Question Number : 92 Question Id : 2105298853 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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T5d 3 URed H, 30 JdTG! & fod 9gd &H aid drell BA| &l W g f[dded g

A. U SSIRI DI T

B. Jdlq 4R

C. TG @1 H HHMERY

D. 3G 31 Bl faiR

E. ol

1 feu 7w fgoedl # ¥ 98l 3w gHU

1. ®3d A, B3R C
2.PaaC, D IRE
3. HaAB AR D

4 H3AB AR E
Options :
21052934765. 1
21052934766. 2
21052934767. 3
21052934768. 4

Question Number : 93 Question Id : 2105298854 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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The underlying principles of the Combined Code of Corporate Governance and Conduct are:
A. Acceptability

B. Openness

C. Integrity

D. Accountability and Responsibility

Choose the correct answer from the options given below:

1. A only

2. AandC
3.BandD

4. D only
Options :
21052934769. 1

21052934770. 2
21052934771. 3
21052934772. 4

Question Number : 93 Question Id : 2105298854 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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UfshaT 99 Higd & S1HR R HRURE e & Adf-ied [HEid g
A. Tl

. faadan

C. 98I

D. Gdldcel R JoRalitd
el IR -

1. Had A

2. Pad A 3R C
3. HaaAB AR D
4, HAAD
Options :
21052934769. 1
21052934770. 2
21052934771. 3
21052934772 4

Question Number : 94 Question Id : 2105298855 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following HR decisions can be influenced by HR analytics?
A. HR Planning

B. Succession Planning

C. Hiring

D. Performance

E. Compensation and Rewards

Choose the most appropriate answer from the options given below:;

1. A C D only

2. C, Eonly

3.C, D, Eonly

4 A B CDandE

Options :

21052934773. 1
21052934774.2
21052934775. 3

21052934776. 4

Question Number : 94 Question Id : 2105298855 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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A4 iy [Aciftet @ Fufafea & 9 o= ¥ 990 99y Roflg uufda et aad € 2
A, HFG GOTH AT
B. FTRITHGR AT

C. i

D. B e

E. Ufa@e 3R 399

i feu 7w fgoeul # ¥ U5l 3w gHU:

1. ®dd A, C, D
2. PaqAC, E
3.PaAC, D, E
4 A B CDE
Options :
21052934773, 1
21052934774 2
21052934775. 3
21052934776. 4

Question Number : 95 Question Id : 2105298856 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following should be avoided by interviewers?

A. Establish an easy and informal relationship.

B. Analyze career and interests to reveal strengths, weaknesses, patterns of behaviour.
C. Ask leading questions.

D. Plunge too quickly into demanding questions.

E. Encourage the candidate to talk.

Choose the most appropriate answer from the options given below:;

1. A C D only
2. C, D only
3.C, D, Eonly
4. B, Conly

Options :

21052934777. 1
21052934778.2
21052934779. 3

21052934780. 4

Question Number : 95 Question Id : 2105298856 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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GieT@REd e @f FgikiRad 5 9 6 9ol &1 UReR &1 9iiel ?
A, gaH SR sHITARS de9 RI0T S o

B. TS U], GeCIU, 1951 Yaqai &l Udl o1 & [0d $iaR SR ATl &1 o=y
A Y

C. TR - TG U GBI

D. &R Uy go F 2mEpd g9 9
E. 304l @] ardi & faT Uieiied - 9
R R R B0 8 o

1. $dd A, C, D
2. HadC, D
3. HadAC D, E

4, Had B, C
Options :
21052934777. 1
21052934778. 2

21052934779. 3
21052934780. 4

Question Number : 96 Question Id : 2105298857 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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What out of the following are the involvements of the Strategic Human Resource Management
in Corporate Strategy 7

A. Human Resources Management is fully integrated with the strategy and the strategic needs
of the firm.

B. Human resource policies cohere both across policy areas and across hierarchies,

C. Human Resource practices are adjusted, accepted and used by line managers and
employees as part of their daily work.

D. Human Resources architecture is composed of the systems, practices, competencies, and
employee performance behaviours that reflect the development and management of the
firm’s human resources.

Choose the most appropriate answer from the options given below:

1. A, B, C only

2. B, C, D only

3A B CandD

4 A C Donly a a
Options :

21052934781. 1
21052934782. 2
21052934783. 3
21052934784. 4

Question Number : 96 Question Id : 2105298857 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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foodl oft T1161 | A g &1 YHe #ew@yul gidl 6, dIRURE G 5 SR-de J-g
THIeH UaeH o HRfcaa H S /B g 2

A, HFd YY1 Uy BH &1 SriHide Aadbdrl HR I 4 goid: Uaidd oidl 6 |
B. AIa TEIeA il FH Hifavd &3l R 9+l uarmAl § 9599 Hdl o

C. T1d YTTeE gRuifedl &f Tig- s 3R BHaR] 304 ofH® 1 & YN & 0 § aEiferd,
Wi 3R W 3 ¢

D. 9d 997194 @1 IXg1 uonferal, ufvanieal, gamdrefl 3iR SHaR] WGy cdgeR 4 Haey
1 Bidil & ol BH & A4 991y & UgYH 31 [de™E 3 didfsfad $ial o

Hid feu 71T fgsedl # € gl S iU

1. $ddA, B, C
2. HdA B, C, D

3.A,B,CD

4, HAdA, C, D
Options :

21052934781. 1
21052934782.2

21052934783. 3
21052934784. 4

Question Number : 97 Question Id : 2105298858 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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‘Award' under the Industrial Dispute Act, 1947 is:

A, Interim determination of Labour court.

B. Not an arbitration award under section 104,

C. Final determination of labour court.

D. Not final determination of arbitration award under section 10A.
Choose the most appropriate answer from the options given below:;

1. A and C only

2. A and B only

3. A, Band C only
4. B and D only
Options :
21052934785. 1

21052934786. 2
21052934787. 3
21052934788. 4

Question Number : 97 Question Id : 2105298858 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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et faarg ifafas, 1947 & dgd SaTS © :

A. 5F JTgTCg BT SIARH SR

B. YRT 10T & dgd MR FHuig

C. %9 graTey @ SffcH Sy

D. YRT 10U & dod ALY FUig 31 sHfiH sfauro
7 feu 7w fgoedl H ¥ 98l 3w 9T

1. Had A AR C
2. Pad A 3T B

3. PadA, BIARC
4, H3AB A’R D
Options :
21052934785. 1
21052934786. 2
21052934787. 3
21052934788. 4

Question Number : 98 Question Id : 2105298859 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following labour laws are related to working hours, conditions of services and
employment?

A. The Payment of Wages Act, 1936.

B. The Trade Union Act, 1926.

C. The Factories Act, 1948,

D. The Mines Act, 1952,

Choose the most appropriate answer from the options given below:;

1. A and C only

2. A and D only

3. Cand D only
4. B, C and D only
Options :

21052934789. 1
21052934790. 2
21052934791. 3 a a
21052934792. 4

Question Number : 98 Question Id : 2105298859 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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FafeRad H € @F | 97 B 14 Ul , 9a1 dl 3R SR ° a6 3 2
A. Foige! Harg SfafTH, 1936

B. 08 giHEH SHfifad 1926

C. PRI fUFTH, 1948

D. @M 3if4fgH,1952

1 feu 7w fgoedl # ¥ 98l 3w gHU

1. BT A, C

2. Pad A, D
3.Padac, D
4, HddAB, C, D
Options :
21052934789. 1
21052934790. 2
21052934791. 3
21052934792. 4

Question Number : 99 Question Id : 2105298860 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following statements are included in financial statements?
A. Cash flow statement.

B. Funds flow statement.

C. Balance sheet.

D. Statement of change in equity.

E. Income statement.

Choose the most appropriate answer from the options given below:;

1. A, B, Cand D only
2. A, C DandEonly
3.B, C, D and E only
4. B, C and E only

Options :

21052934793. 1
21052934794. 2
21052934795. 3

21052934796. 4

Question Number : 99 Question Id : 2105298860 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Fafaiad sy 4 © i &1 fa<dig faaeo & =anfia fear wan g ¢
A. Pl Udie faawu
5. fafe] uare fagzor

C. qo 43

D. 3l & uRaay &1 faaem

E. 31T faazur

1 feu 7w fgoedl # ¥ Wgl S gHY

1. B3 A, B, C3IRD
2. PaddA, C, DIARE
3. PaaB, C D3RE
4, H3aB, C AR E
Options :
21052934793, 1
21052934794. 2
21052934795. 3
21052934796 4

Question Number : 100 Question Id : 2105298861 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following cause conflicting ranking of an investment opportunity under the NPV
and IRR criteria?

A. Cash flow pattern disparity.

B. Investment size disparity.

C. Investment life disparity.

D. Product life cycle disparity.

Choose the most appropriate answer from the options given below:;

1. A, B and C only
2. B, C and D only
3. A, Cand D only
4. A B and D only
Options :

21052934797. 1
21052934798. 2
21052934799. 3 a a
21052934800. 4

Question Number : 100 Question Id : 2105298861 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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T U d1 3R 313 3R 3R JFgvs] & 4 Fgiaiad & 9 our-3a1 [&d a9 siaae &
SR I & TR 5l 9Pd g ?

A. 1] UdTe Yo fawsar

B. M99 @R fquHdr

C. a1 e fausar

D. BdIG S I [quHdr

i feu T famedl § 9 9aiie 3uged SR gy

1. ®3d A, B3R C
2. Paa B, C 3R D
3. PadA, C AR D
4. H3dA BIARD
Options :
21052934797. 1
21052934798. 2
21052934799. 3
21052934800. 4

Question Number : 101 Question Id : 2105298862 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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For which of the following considerations, investors prefer current (near) cashflows over the
future {distant) cashflows?

A. Inflation and value erosion.

B. Risk aversion and avoidance.

C. Liquidity preferences.

D. Return generation and value protection,

E. Risk appetite and tolerance.

Choose the most appropriate answer from the options given below:;

1. A, B and E only
2. B, D and E only
3. A, DandE only

4. A B, Cand D only
Options :
21052934801. 1
21052934802. 2

21052934803. 3
21052934804. 4

Question Number : 101 Question Id : 2105298862 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Fafafad # 3 fod Rl § FHaxe Yidh (Ggx) Fdal Halg ) SUsl dadH (Fide) Fhdl Udis
@l UG ad & 7

A. HEREDIT 3R 559 819

B. WiiRaH far@d 3R ftasiq

C. TRl aRIgdg

D. UfceH SR Hog TRa

E. SIRaH uafi SR gg=ierdn

A7 fu 7w faoedl # 9 el 3Tk 99E

1. B3d A, B3R E

2. Paa B, D 3ARE

3. PadA D3IARE
4, HdAA, B, C3IR D
Options :
21052934801. 1
21052934802. 2
21052934803. 3
21052934804. 4

Question Number : 102 Question Id : 2105298863 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Based on asymmetric information, managers prefer to finance firms' capital structure in which
order as postulated in the Pecking Order Theory?

A. Retained earnings and internal sources.

B. External debt financing.

C. Hybrid security and convertible bonds.

D. New issue of Equity shares.

Choose the correct order from the options given below:

1.A D CandB
22A B CandD
3B C AandD
4C, D, AandB
Options :

21052934805. 1
21052934806. 2
21052934807. 3 a a
21052934808. 4

Question Number : 102 Question Id : 2105298863 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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AN s [OEid ® S9R, Faid $o- & YR IR qays Hafafad 3 ¥ oo s 3 wd ot
Yol WX & faaamn &l adigai ad & 2

A. UfdeTied SHe 3R iR |id
B. STel B Y] fa<iumor

C. THii%d gRan SR uRked-a 9is

D. 3t 2gRT &1 71 3

i feu ¢ famedl # 9 wel I 9+

1.A.D,C 3R B
2.A B, C3RD
3.B,C, ASRD
4.C, D, A3TR B
Options :

21052934805. 1
21052934806. 2
21052934807. 3 a a
21052934808. 4

Question Number : 103 Question Id : 2105298864 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following are integral dimensions of a firm's credit policy?
A. Credit Standards.

B. Credit appraisal.

C. Credit period.

D. Cash discount.

E. Caliection policy.

Choose the most appropriate answer from the options given below:;

1. A, B, Cand D only
2. A, C DandEonly
3. A, B, DandE only
4 A B, CandE only

Options :

21052934809. 1
21052934810. 2
21052934811. 3

21052934812. 4

Question Number : 103 Question Id : 2105298864 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Fafeied H 9 o1 ° o9 B 31 B Hifd & i Agm E 2
A. U D

B. U1 i

C. BT 3fafy

D. 0T §E1

E. §Ug I Hifd

i feu 7w fgoeul # ¥ U5l 3w gHU:

1. B3 A, B, C3IRD
2. PaddA, C, DIARE
3. PadA, B, D3RE
4, Hdd A, B, C 3R E
Options :
21052934809. 1
21052934810. 2
21052934811. 3
21052934812. 4

Question Number : 104 Question Id : 2105298865 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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According to Ansoff Product-Market Expansion Grid, intensification can be achieved through
three distinct strategies. Identify them out of the following:

A. Market Attractiveness.

B. Market Penetration.

C. Market Development.

D. Product Development.

Choose the correct answer from the options given below:

1. A, B and C only
2. B, C and D only
3. A, B and D only
4. A, Cand D only
Options :

21052934813. 1
21052934814. 2
21052934815. 3 a a
21052934816. 4

Question Number : 104 Question Id : 2105298865 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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T 3G - ST9R [GWRY 38 & SR, d1a0 & di- Ty UGl & J1ed 9 Ui fbar ol
gohal ¢ | FEicRad # ¥ 39o! Uga Do :

A. STOIR TP

B. ST odTu-

C. SR faerd

D. 3G fa®rd

A1 feu 7w faoedl # 9 el 3w 9y -

1. ®3d A, B3R C
2. Paa B, C 3R D
3. PadA, B IR D
4. B3I A, C3RD
Options :
21052934813 1
21052934814. 2
21052934815. 3
21052934816. 4

Question Number : 105 Question Id : 2105298866 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Under the cost-based pricing, the following methods/approaches are commonly used:
A. Marginal cost pricing.

B. Markup pricing (cost-plus pricing).

C. Absorption cost pricing (full cost pricing).

D. Return on Investment pricing.

Choose the correct answer from the options given below:

1. A, B and C only

2. B, C and D only
3. A, C and D only
4 A B, Cand D - All
Options :
21052934817. 1

21052934818. 2
21052934819. 3
21052934820. 4

Question Number : 105 Question Id : 2105298866 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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RT SATeTRe ged [MuRu & sforfa, FafaRad fafREl / SurEl @1 o4 dR 1R UaiRT fodl oidl & ;
A, T aFTd Hed [y

B. af¢fd @A (AFTd ¥g Hed HuURm)

C. 3{THaH drTd Jed FaRor (qui @rg geg Fafwo

D. a9 g FeiRo wR ufaea

i feu ¢ famedl # 9 wel I 9+

1. HaAA, B3R C
2. ®adaB, C3RD
3. BAAA, C3HRD
4.9d A B C3HRD
Options :
21052934817. 1

21052934818. 2
21052934819. 3
21052934820. 4

Question Number : 106 Question Id : 2105298867 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Planning, implementing and controlling the physical flow of materials, final goods and related
information from points of origin to points of consumption to meet customer requirements at
a profit is known as:

A. Inventory Management.

B. Marketing Logistics.

C. Physical Distribution.

D. Selling Management.

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. Cand D only
4. A and D only

Options :

21052934821. 1

21052934822. 2 a a
21052934823. 3

21052934824. 4

Question Number : 106 Question Id : 2105298867 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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e HUaT DI T1Y W fd o ¢ Iahd fdg 9 SuHiT fdgsi & ofa ardi, sifas 3drg sk
Gaftd a1 &1 HEeH1, fiharagq iR Wifde yarg & a0 ®f 59 0 5 SHE 9l © -

A, GHAT - Tl UdeH
B. T9UvH 9YR o3
c. vifd® faaeo

D. fael UdtH
Fafeied fa®eal 5 ¥ 981 3w 9L

1. H3d A 3R B
2. PaaB AR C
3. PaA C IR D
4. H3AD 3R A
Options :
21052934821 1
21052934822 2
21052934823. 3
21052934824, 4

Question Number : 107 Question Id : 2105298868 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Customer Relationship Management (CRM) performs several tasks and brings several benefits.
Identify them out of the following:

A. Support cross-selling and upselling to existing customers.
B. Manages customer interaction and customer service.
C. Serves as a sustainable competitive advantage.

D. Helps convert buyers into profitable customers, build enduring relations with them and
retain them as customers for life.

Choose the correct answer from the options given below:

1. A, B and C only
2. B, C and D only
3. A, C and D only
4 A B, Cand D - All

Options :

21052934825. 1

21052934826. 2 a a
21052934827. 3

21052934828. 4

Question Number : 107 Question Id : 2105298868 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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qe® Ta¢ TeeH (U 3R TH) 3HS B[ Hulicd o3dl ¢ 31X o oy ol ol Fefifead 9
3P| UgdH Difeid ;

A. TaemH g @l ufd - fowt! 3R 1Y faw] (ermdfdn) & 99ds axar gl
B. TTE® ia-fopa 3R e U4l BT UseH
C. 991 U GUINUig Waiae ad g

D. Il B ATHYG Je®| # TUidRd $i- 370 91 KR@iae d89 A0 &3 3R 35
JHToliad el & ¥4 H §910 3a+ § Jgradl &idl o

1 feu 7 famedl & O 981 3w 9y -

1. HaAA, B3R C
2. ®adaB, C3RD
3. BAAA, C3HRD
4.9W A B, CARD

Options :

21052934825. 1

21052934826. 2 a a
21052934827. 3

21052934828. 4

Question Number : 108 Question Id : 2105298869 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Identify the most important types of retail stores:

A. Convenience store.

B. Online store.

C. Departmental store.

D. Direct-selling store.

E. Superstore.

Choose the correct answer from the options given below:

1. A, B and C only
2. A, Cand E only
3. B, Cand D only
4. A, D, and E only
Options :
21052934829. 1
21052934830. 2
21052934831. 3
21052934832. 4

Question Number : 108 Question Id : 2105298869 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Yol HeR (ER) © Fallys Hgwayy] UoR( &I GgdH Do :
A. giguT &R

5. AT ©IX

C. feurcHed &R

D. Wede faspl ®R

E. R &R

fFafeRad fgeeal 5 ¥ 95l 3w gy -

1. ®3d A, B3R C
2. PadA, C AR E
3. PaA B, C3IRD
4 H3dA DIHRE
Options :
21052934829. 1
21052934830. 2
21052934831. 3
21052934832. 4

Question Number : 109 Question Id : 2105298870 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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For calculating arithmetic mean for a grouped data set, assumptions are:

A. The class intervals must be closed.

B. The width of each class interval should be equal.

C. The mid-value of each class interval must represent the average of all values in that class.
D. All values of observations can not be evenly distributed.

Choose the most appropriate answer from the options given below:;

1. A and B only

2. A, B and C only
3. A and C only
4 A B CandD
Options :
21052934833. 1

21052934834. 2
21052934835. 3
21052934836. 4

Question Number : 109 Question Id : 2105298870 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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THpeS a1 9wy & AU AT A1 & UNeeH & [T QayRUMT & -

A. T SITRTd U9 BHT A6y

B. U@ ¥l SeRId UHEAH &l dlieT

C. U@ @i SITRTe & HE-HH 9 39 & & 9+ 7H &1 HAd G311 9 d1ieg
D. U&UT & G4 A 1 U A Hidaevl 78] 5l 9ol o |

i fau e famedl # ¥ Haiite Iugea S 9T :

1. A A AR B

2. HadAA, B AR C
3. @A A AR C
4.A B, C3RD
Options :
21052934833. 1

21052934834. 2
21052934835. 3
21052934836. 4

Question Number : 110 Question Id : 2105298871 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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The function which states the determinants of the quality to be either maximized or minimized
is called as:

A. Feasible function.

B. Optimal function.

C. Criterion function.

D. Sustainability function.

E. Objective function.

Choose the correct answer from th& options given below:

1. A, B and C only
2. Cand D only
3. Cand E only

4. C, D and E only
Options :
21052934837. 1
21052934838. 2

21052934839. 3
21052934840. 4

Question Number : 110 Question Id : 2105298871 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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dg UYei [0 9dr/a1 A1dl & @1 1[UEl SaURS 91 dl HAGaHihd sl HUdl gAdHIdbd ol ;
A. TR UbTd

B. SFdH Y

C. AIUGS U

D. Haddl e

E. 38 UBH

Fafeiad fameal # 9 alfas uged 3w 44 ;

1. ®3d A, B3R C
2. $ad C AR D
3. $ad C 3R E
4. H3aC, DIARE
Options :
21052934837 1
21052934838. 2
21052934839. 3
21052934840 4

Question Number : 111 Question Id : 2105298872 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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What is a social enterprise concerned with?

A. Profit Maximization.

B. Maximizing Market Share.

C. Providing Public Service,

D. Running a business to create social benefits,

E. To maximize improvements in financial, social and environmental well-being.
Choose the most appropriate answer from the options given below;

1. A, D and E only

2. C, D and E only

3. D and E only

4 A B, DandE only

Options :

21052934841. 1
21052934842. 2
21052934843. 3

21052934844. 4

Question Number : 111 Question Id : 2105298872 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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U SEioi® S e Hafid giai g 7

A, FATHT SfapaHim o

B. GTSIR RTR B SHUBIHIDHI

C. Frdsf-d Hal HarRt

D. HHTSI TTH FoiAl & [T Saadrg geil

E. faiig, amifeie ok waiaruiia seredl § GUR &1 HiUaaaidol HAl
Fafeiad fameal # 9 alfas uged 3w 44 ;

1. Had A, D AR E
2. ®aaC, D3MRE
3. @aAD ARE

4. HaAA, B, DARE

Options :

21052934841. 1
21052934842. 2
21052934843.3

21052934844. 4

Question Number : 112 Question Id : 2105298873 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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At the time of exporting goods from India, what documents are to be filed for custom
clearance of goods?

A. Shipping bill.

B. Airway bill,

C. Invoice (Commercial Invoice).

D. Packing list

E. Marine Insurance Policy.

Choose the correct answer from th& options given below:

1. A C D only
2. A, B, C Donly
3.A,C D, Eonly

4. A C Eonly
Options :

21052934845. 1
21052934846. 2

21052934847. 3
21052934848. 4

Question Number : 112 Question Id : 2105298873 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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YR 9 gl & [gid & 954, g%l ©f 9191 Yod YatH dodl & oL @1 9 Gxdd Gae o
BIOE 7

A. STToRH! fad
5. §als HF fad

C. dieid (@iftiioa® divid)

D. Ofdoar it

E. THg! & giferdt

i fau e famedl o € 9el 3w g ;

1. ®3d A, C3RD
2. Pad A, B, CHR D
3. PAUA C DIARE
4, BT A, C 3R E
Options :
21052934845, 1
21052934846. 2
21052934847. 3
21052934848, 4

Question Number : 113 Question Id : 2105298874 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Identify the techniques of Artificial Intelligence from the following:
A. Artificial Neural Networks.

B. Heuristics

C. Fuzzy models.

D. Support Vector.

E. Genetic Algorithms.

Choose the most appropriate answer from the options given below:;

1. A C D only
2. A, C Eonly
3.C, D, Eonly
4. A B, Conly

Options :

21052934849. 1
21052934850. 2
21052934851. 3

21052934852. 4

Question Number : 113 Question Id : 2105298874 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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HEE difGdmdl (Al) B db-id 8 -

A, HEH diEeT Hedd

B. VTS TGid

C. Wil HIgdA

D. He1® dfea

E.HaiTI® Seafy

i feu e famedl & ¥ Yaiite 39gad 3w g4i-4 :
1.Had A, C, D

2.%adA, G E

3.PaAC, D, E
4, HIAC, A, B
Options :

21052934849. 1
21052934850. 2
21052934851. 3
21052934852. 4

Question Number : 114 Question Id : 2105298875 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

https://g28.tcsion.com/CAE/viewHtmIPDFAction.action 165/233



10/1/2020 https://g28.tcsion.com/CAE/viewHtmIPDFAction.action

International Cooperation Scheme under marketing promotion scheme to MSME
entrepreneurs is available for what type of activities?

A. Participation in International exhibitions, trade fairs,

B. Giving advertisements in international trade journals.

C. Participation in buyer-seller meets in foreign countries.

D. For meeting overseas agents and negotiating business.

E. For availing overseas grants and aids.

Choose the most appropriate answer from the options given below:;

1. A, and C only
2. A, B and C only
3. A, Cand D only

4. A and D only
Options :
21052934853. 1
21052934854.2

21052934855. 3
21052934856. 4

Question Number : 114 Question Id : 2105298875 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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UH UE UH § 9l @ fog fquure Sade @ig & 38 Siqipia 9gai Wi 69 UoR &
BRG] & o8 SUas @ ?

A. SITRRIPIY USRI, SR #al 7 HrfieR!

B. SIaRAP UTUR UisIel # fagmu &1

c. fag=i & o1 - fadsar do@ H WrTER

D. fae=f goiet ok gl SXard Al & T 6@ & g
E. fqe=i SfgeMl 3R g/l & oy 381 @ oY

- feu T faeeul & ¥ walite Juges SR 9T -

1. Had A AR C
2. Pad A, B AR C
3. PadA, C AR D

4. Had A {RD
Options :
21052934853. 1
21052934854. 2

21052934855. 3
21052934856. 4

Question Number : 115 Question Id : 2105298876 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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The statement "Entrepreneurship is a mother of foresight and willingness to assume risks in
undertakings particularly a new one”. Who has said above the underlined portion of the
statement?

A. Richard Cantillon.

B. Leon Walras.

C. William Diamond.

D. Peter F. Drucker.

E. LLA. Schumpeter.

Choose the correct answer from the options given belows

1. A, C only
2. B, C only

3. D, E only

4. C, Eonly d d
Options :

21052934857. 1 a a

21052934858. 2
21052934859. 3
21052934860. 4

Question Number : 115 Question Id : 2105298876 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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"Gl 3UhA! H (42 U U U IUHH H graiial SR WIRad - &l 5501 1 [dyd g1
29 Y H Wifdd e (D] 3iad & :

A RT3 Sfeam
B. feiq areeg
c. fafcag srgHs

D. UIeX U, Sh
E. Ol T ¥h AR
id feu e fasedl  © Haifte Iuges 3R g4 :

1. AT A, C
2. HaddAB, C
3. HadD, E

4. HadC, E
Options :
21052934857.
21052934858.

21052934859.
21052934860.

AW O~

Question Number : 116 Question Id : 2105298877 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match List | with List 11

List | List 11

. I. Consumers shop in a store
A Consumer clinics .
simulated on the computer screen
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by touching product image on the
screen and purchasing it by touching
the picture of a shopping cart.

B. Market experiments

II. It is the simulation of consumer
behaviour using computer models
based on the theory of complexity to
assess the impact of managerial
decisions.

C. Virtual shopping

Il. These are conducted in the actual
market place with similar socio-
economic characteristics to record
consumer responses consequent to
given change(s) in demand
determinants.

D. Virtual management

IV. These are laboratory experiments
in which the participants are given a
sum@fmoney and asked
in a simulated store to
react to changes.

Choose the correct answer from the options given below:

TLA-ILB-ILC-1,D-1IV
ZA-W,B-1ILC-1,D-1l
3A-ILB-1,C-1I,D-1IV
4A-IV,B-U,C-1I,D-1
Options :

21052934861. 1
21052934862. 2
21052934863. 3
21052934864. 4
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Question Number : 116 Question Id : 2105298877 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
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Correct Marks : 2 Wrong Marks : 0

Tl -1 I Tl -1l Y Yaferd i ;

Tl -|

T -1

A, DogHY
CRIEED

| Ut ®R & IuHla g IR DYe & BhiH W 3dG &
o @1 w02 R AR WU DI & 07 B O B ITD|
WG B HTHY

B.EGIR
ugnT

I, 98 UgUS ™ [uial & AdHcH & oL Sieadl & [Hgid I
1T P UITHH! BT W DR 3UHIEI HdeR Bl
HIETI §

C. YTt
EGRATeAR]|

1. 3 A FuRe! & aRacHl & Baaey SuHiE Ut
gRdfad SIeR H Sdiicid 19l Siidl o

D. HTYTH
BELE]

Iv. T TaTEITer § e W ard Uae & Set YPiicRl &1 Ue
IR € Sl & SR (Y Uiadsil UR g1 Uidishdl o+
o0 I 39 AR ®I Uh eiud ©R H ¥4

HEl A1aT &

i feu 7Y fqeedl & T 9al ok 91T ;

T.A-I1,B
2A-1IV,B
3A-1ILB
4. A-1V, B
Options :

=L - | D=
-1, € -1, D~
==, BN
-1, C -1, D -1

21052934861. 1
21052934862. 2
21052934863. 3
21052934864. 4
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Question Number : 117 Question Id : 2105298878 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match List | with List 11

List I List I
A. | am OK, you are OK . Avoidant
B. | am OK, you are not OK Il. Bossing
C. | am not CK, you are OK I1l. Competent
D. 1 am not OK, you are not OK  |IV. Diffident

Choose the correct answer from the options given below:

TLA-NLBE-1L,C-IV,D-I
ZA-NILB-ILC-IV,D-|
JA-ILB-LC-IV,.D-1
4 A-ILB-IV,C-1IILD -1
Options :

21052934865. 1
21052934866. 2
21052934867. 3
21052934868. 4

Question Number : 117 Question Id : 2105298878 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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T -1 1 Gl -1 3 T AR B

gl -1

T -1l

g

(Sl SaR) (R - ¥e)
A B 3D g, AU BIP o . gRERt
AT E AUdEHAeie |9 FHH aren
CHIGAEE 2udiL e I waH
Dﬂa‘lﬁ%"rﬁl}wﬁﬁﬂ‘fﬂ V. HTEHR

fafeiad faeedl o 9 Uel IW giH

TA-ILB-|,C-IV,D-Il
ZA-ILB-ILC€-1V, DES
JA-ILB-HULC-1IV, £
A4AA-ILB-IVC-1I B-1
Options :

21052934865. 1
21052934866. 2
21052934867. 3
21052934868. 4

Question Number : 118 Question Id : 2105298879 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Match List | with List 1l

List | List 11

A. Labour welfare is a desirable state of
existence comprehending physical, mental, l. I. Relative concept
moral and emctional health or well being.

B. In planning for welfare, the individual alone L
5 , : Il. Positive concept
should not be taken into consideration.

C. Welfare work differs over time and place.  |lll. Social concept

D. Welfare connotes at least minimum
desirable conditions of existence biologically |IV. Total concept
and socially determined.

Choose the correct answer from the options given below:

TA-ILBE-IV,C-1Il,D -1
ZA-ILB-ILC-1,D- ¥

3.A-IV,B-1,C-1I, DAl

AA-IV,B-1I,C-1, D=1 adda
Options :

21052934869. 1

21052934870. 2
21052934871. 3
21052934872. 4

Question Number : 118 Question Id : 2105298879 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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gt -1 B Gl -11 & Ty gafed oo
gl -1 gl -1l

A, 5 Bl A &I UH || GUE® HauRom
giw-g fawy & forgd
RIRG, IS, Ald® 3R
TaTdd Wiy 3ydl
SR 2 8

B. TTUIU] B AN & (08 |||, TORIES HGURI
i 71 IR AR Fe g

ElREY

C. BeaU &Y H 999 3R Il SIS S[FERom
T YR 3R B8

D. BVl &l Hdbd & lidd d |IV. el SHaURN

oS w9 9 i

3T Bl GAaH IS4G a a
EIGE]

frafeied famedl H 9 96l IR gHU:

TA-ILB-IV,C-1ll, D~-1
ZA-NLB-ILC-1, D-IV
33A-IV,B-1,C-1I, D=1l
4 A-IV,B-1II,C-1I, D-1
Options :

21052934869. 1
21052934870. 2
21052934871.3
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Question Number : 119 Question Id : 2105298880 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match List | with List 11

https://g28.tcsion.com/CAE/viewHtmIPDFAction.action

List | List 1l

A Ind. AS 8 l. Statement of cash flows.
. Accounting Policies, Changes in Accountin

B. Ind. AS 110 , 9 S 9
Estimates and Errors.

C.Ind. AS7 lll. Related Party Disclosure.

D. Ind. AS 24 . . .
V. Consolidated Financial Statements.

Choose the correct answer from the options given below:

TLA-NILE-IV,C-II,D-A
ZA-1,B-IV,C-Ill &l
A=, B-=1V, C- ], .
4A-IV,B-1,C-1,D-1

Options :

21052934873. 1
21052934874. 2
21052934875. 3
21052934876. 4

Question Number : 119 Question Id : 2105298880 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

https://g28.tcsion.com/CAE/viewHtmIPDFAction.action
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T -1 1 Gl -1 3 T AR B

gl -1 T -1l

GLEIGEEIEED (fggm)

A S5TTHS . A a) Udlg 31
IGEELY|

B. S8 T TH 110 ||, TREie Hifad],
Tgidh Ugsad &
URddH g Fieai

C.33UTg7 11, deifer forg
PG

D. 55T TH 24 Iv. GEfod fosiig
ICEELS

fafeiad faeedl o 99l 3 99 :

TA-ILE -V, C-IINB-
ZA-ILB-IV.C-1ll, D-1
SA-ILB-IV.C-1, D-1I
4 A-IV,B-1ILC-1, D-1I
Options :

21052934873. 1
21052934874. 2
21052934875. 3
21052934876. 4

Question Number : 120 Question Id : 2105298881 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

https://g28.tcsion.com/CAE/viewHtmIPDFAction.action
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177/233



10/1/2020 https://g28.tcsion.com/CAE/viewHtmIPDFAction.action

Match List | with List 1l

List | List I
4. Value creation I. Time value of money
B. Value protection Il. Options and futures
C. Asset pricing Il. Merger and Acquisitions
D. Price discovery IV. CAPM and APT

Choose the correct answer from the options given below:

TA-NLB-L,C-IV,D-1
ZA-1,B-IN,C-1,D-1lI
3A-1L,B-ILC-1I,D-V
4 A-IV,B-1U,C-1ID-1
Options :

21052934877. 1
21052934878. 2

21052934879. 3
21052934880. 4 d
Question Number : 120 Question Id : 2105298881 Questiona a No Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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T -1 1 Gl -1 A GARTE B

https://g28.tcsion.com/CAE/viewHtmIPDFAction.action

gl -1 T -1l

el / DA Afdwf Ififed fded

A HHE o . TG | SR €4

B. A TR&T 1. fadea SR ufas

C. ST YR INEEEEEREE PR

D. Geg 3390 v. @ g UiTH SR U
el

TA-ILB-LC-IV, D-1
ZA-ILB-IV,C-1, D-1I
3A-LB-ILC-IlIl, D-IV
4 A-IV,B-IILC-1l, D-1I
Options :

21052934877. 1
21052934878. 2
21052934879. 3
21052934880. 4

Question Number : 121 Question Id : 2105298882 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Match List | with List 1l
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List I

List I

A, Corporate Strategy

I. Turnaround Strategy

B. Directional Strategy

Il. Parenting Strategy

C. Retrenchment Strategy

Il. Pause/Proceed with Caution Strategy

D. Stability Strategy

IV. Growth Strategy

Choose the correct answer from the options given below:

TLA-IW,B-1,C-1I,D-1
ZA-1,B-IN,C-1,D-1lI
3A-1,B-NLC-1I,D-V
4 A-IV,B-1LC-1IL,D-I
Options :

21052934881. 1
21052934882. 2
21052934883. 3
21052934884. 4

Question Number : 121 Question Id : 2105298882 Questio

Correct Marks : 2 Wrong Marks : 0

https://g28.tcsion.com/CAE/viewHtmIPDFAction.action

na dpda No Is Question Mandatory : No
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gt -1 @ gl -1 gHfed e -

gl -1 Tl -1l

A. DIGINE BIYAITT |1 QaiUfd S

B. fG=meT® @rifd |11, HRam SR

C. el s I11. B3Ed / TIaYHIgdd 1 g @I SE-id
p.RRasEHla  |Iv. UafE Bl

gifdd fadeul & 4 el 3w dH

TA-W,B-1,C-Il, D=1
ZA-1,B-IV,C-1, D=1l
3A-1B-ILC-1, D-1V
4 A-IV,B-1LC-1IL,D-I
Options :

21052934881. 1
21052934882. 2

21052934883. 3
21052934884. 4 d d
Question Number : 122 Question Id : 2105298883 Questiona P la No Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Match List | with List 1l
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List | List 11
A, Product I. Click and mortar companies
B. Price Il. Disintermediation
C. Place lll. EDLP

D. Promotion

IV/. Brand

Choose the correct answer from the options given below:

TA-1L,B-ILC-I,LD-1V
ZA-ILB-IV,C-Il,D-1
3JA-WV,B-1L,LC-II,LD-1
4 A-ILB-IV,C-1,D-1I
Options :

21052934885. 1
21052934886. 2
21052934887. 3
21052934888. 4

Question Number : 122 Question Id : 2105298883 Questio

Correct Marks : 2 Wrong Marks : 0

https://g28.tcsion.com/CAE/viewHtmIPDFAction.action

na dpda No Is Question Mandatory : No
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T - PG -1 A g PR

il - REIE]

A. IS I fdas T Ak
BT

B. { ||, R @l
HHG

C. M 1.3 S g U

D. Hadq V. §iS

Fgifed fdeal & 4 Ogl IR

TA-1L,B-ILC-1, D-IV
ZA-1LB-1V,C-Il, D&
A-IV,B-N,C-I, B-|
4 A-1LB-1IV,C-1 B=1l
Options :

21052934885. 1
21052934886. 2
21052934887. 3
21052934888. 4

Question Number : 123 Question Id : 2105298884 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Match List | with List 1l

List | List 11

x 100

= Q

A. Coefficient of range

] mean absolute deviation
B. Coefficient of QD :

X or Me
. Qs — @y
C. Coefficient of MAD oy, =3t
cemicient. o Q3+Ql
D. Coefficient of variation (CV) L
Sgemcient o vanation 5
H+L

Choose the correct answer from the options given below:

TA-IV,B-ILC-ILD-I
ZA-IILB-IV,C-I,D-1
3A-ILB-1LC-1I,D- 1V

4 A-ILB-1,C-1v,D -l

Options :

21052934889. 1 a a
21052934890. 2

21052934891. 3
21052934892. 4

Question Number : 123 Question Id : 2105298884 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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o -1 B - @ GRRE S

el - | ot - 1
A S @1 U1 ) %-: 100
B. T SI &1 70N | Jev T e
X H9al Me
C. T U Bl &l 70T B -
B+ a
D,iafﬂﬂl?ﬂiaﬁ f H-1L
V. S

i feu e o edl H 4 wel SR gHU :

1T.A-IV,B-1I,C-1l, D-4
2A-1LB-1V,C-1, DA
JA-LB-ILC-1, EIM
4. A-1,B-1C-1V, B=1i
Options :

21052934889. 1
21052934890. 2
21052934891. 3
21052934892. 4

Question Number : 124 Question Id : 2105298885 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Match List | with List 1l

List | List 11
4. Bali Package I. United Nations Conference, 1944
B. Doha Declaration Il. (8th Ministerial Conference), 2013
C. Uruguay Round III. (4™ Ministerial Conference), 2001
D. Bretton woods Conference IV. (Within GATT), 1986

Choose the correct answer from the options given below:

TA-ILB=-ILC-1,D-1V
ZA-1,B-IV,C-ll,D-1
JA-ILB-ILC-IV,D-I
4 A-1ILB-1ILC-IV,.D-1
Options :

21052934893. 1
21052934894. 2

21052934895. 3
21052934896. 4 d
Question Number : 124 Question Id : 2105298885 Questiona a No Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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o -1 B - @ GRRE S

gl -1 T -1l

A. dcH Ubs |. Hgad Y T,
1944

B. GIg1 SgIyul IRGEIR:EIESEAE
) 2013

CIT GR I, (@1 S
THIEH) 2001

D. e 454 D136y I\ (T THEd &
JIa) 1986

i feu 70 f9eedl & © 9@l SuR g-ie -

TA-IL,B-I1I,LC-1 D&Y
Z.A-1,B-IV,C-IIL88=
3.A-1LB -1, C- V=
4 A-1LB-1ILC-IV, D-I
Options :

21052934893. 1
21052934894. 2
21052934895. 3
21052934896. 4

Question Number : 125 Question Id : 2105298886 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

https://g28.tcsion.com/CAE/viewHtmIPDFAction.action
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Match List | with List 1l

List I List 11

Business Strategy Compensation Strategy

A. Invest to grow I. Reward Personal Growth

B. Manage Earnings - Protect Market II. Stress on Cost Control

C. Harvest Earnings - Reinvest elsewhere  |lll. Reward Managerial Skills
D. Total Reward Strategy IV. Stimulate entrepreneurship

Choose the correct answer from the options given below:

TA-ILB-INMW,C-1,D-Il
ZA-IV,B-LC-1LD-1
JA-ILB-IV,C-1,D-1I
4 A-1L,B-IILC-IV,D-1i
Options :

21052934897. 1

21052934898. 2
21052934899. 3
21052934900. 4

Question Number : 125 Question Id : 2105298886 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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gt -1 @ gl -1 gHfed e -

https://g28.tcsion.com/CAE/viewHtmIPDFAction.action

gl -1 T -1l

(AR DI CIGEEEALEIE)

A, faorg & fore o= |. dufda® gfa &l Rebd Bl
B. 319 U&EH - SR &0 I1. TRTE fEE0 iR SR

C U SUMeA - 3703 Qa9 (Il &Y HIS B GIEpd Bl
D. §%d Ay B V. Sl &I URd BT
fgifed faweal o U 9g 3T g -

TA-ILB-IV,C-1, D-1
2ZA-IV,B-IILC-1l, D-1
JA-INLB-IV,C-I, D-1I
4 A-1L,B-IILC-IV, D-1I
Options :

21052934897. 1
21052934898. 2
21052934899. 3
21052934900. 4

Correct Marks : 2 Wrong Marks : 0

https://g28.tcsion.com/CAE/viewHtmIPDFAction.action

adda

Question Number : 126 Question Id : 2105298887 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
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Find the correct sequence of management theories in their origin:
A. Bertalanffy's Systems Theory.

B. Elton Mayo - Human Relations Management Theory.

C. Max Weber - Bureaucracy Management Theory.

D. F.W. Taylor - Scientific Management Theory.

E. Henri Fayol - Administrative Management Theory.

Choose the correct answer from the options given below:

1LA=B—C—-D-—E
2E-D—-A—=B-=C
3C-B—-D—A—=E
4AD—E=C—B—A

Options :

21052934901. 1
21052934902. 2
21052934903. 3

21052934904. 4

Question Number : 126 Question Id : 2105298887 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Uit [Eid & 3% ® YR R FHgiciad o 981 S HH ¢ ;
A. 9d oBI BT HuTell fagid

8. Ueed HYl ®1 AHd HaY Uae fHgid

C. 95 dieR 1 AlanTe! Ha e gl

D. T S&cq Co - dli-io Ve fhgid

E. 5191 thald - Ui UdeH figid

i feu ¢ famedl # 9 wel I g :

TLA=-B—=C=D-=E
ZE=-D-A-=B-=C
3C-B—-+D—-A-E
4D—-E—=C—=B—=A
Options :
21052934901. 1
21052934902. 2
21052934903. 3
21052934904. 4

Question Number : 127 Question Id : 2105298888 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Logically, arrange in sequence the following activities to create the architecture of the ideal
manufacturing firm.

A. Seamlessly integrates the physical and the virtual resources

B. Operates extremely efficient factories and plants

C. Concentrates on core competencies and outsources all other operations
D. Real-time enterprise to respond instantaneously to changes in its business
E. Learning organization facilitating cross-fertilization of ideas

Choose the correct answer from th& options given below:

1.B,.CADE
ZD,ECAB
3CEBAD

4 CBAED
Options :

21052934905. 1
21052934906. 2

21052934907. 3
21052934908. 4

Question Number : 127 Question Id : 2105298888 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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31eE! A BH & Ea-1 goid  Haftd Feifed el ®f diidd U ¥ Yoaaieyd o :
A. Hifdd 3R THTE FE1eEl 31 [l thia

B. SAIIU® SRIGRIA BREH! AR GG dI HareH

C. T[T GEHdr T Gds0l iR 0 UdIeHl $1 ST3eaiiT

D. AT UM | gHard Saadl & Uid dai0] $fear & ¥4 § GHaHE 32

E. AT G716+ forg# A dfds &1 ggral il sar g |

A feu ¢ famedl 7 ¥ el I g -

1.B.CADE
ZD,ECAB
3CEBAD
4. CBAED

Options :

21052934905. 1
21052934906. 2
21052934907. 3

21052934908. 4

Question Number : 128 Question Id : 2105298889 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Arrange in sequence the following accounting constructs and principles in order of
their precedence.

A. Conservatism

B. Full disclosure

C. Separate entity and Going concern

D. Matching principle

E. Revenue recognition

Choose the correct answer from th& options given below:

1.A B DCE
2ZCAEDB
3.C,DEBA

4 A D, CEB
Options :

21052934909. 1
21052934910. 2

21052934911. 3
21052934912. 4

Question Number : 128 Question Id : 2105298889 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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A. Tigdig

B. qUf Udhed

C. G4 Y-l 3R gl g3 udl
D. geTED fagid

E. 9% DI A=l

- feu v faeal ¥ ¥ 9E S 9T

1.A B D CE
2Z2CAEDB
3.C,DEBA
4 A D, CEB
Options :

21052934909. 1
21052934910. 2
21052934911. 3
21052934912. 4

Question Number : 129 Question Id : 2105298890 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Arrange in sequence the following steps in the construction of the optimum portfolios as per
the Sharpe Single Index Model

A. Ranking of investment opportunities

B. Determining investment weightages

C. Identification of investment opportunities

D. Ascertaining the cut-off point

E. Allocation and commitment of financial resources
Choose the correct sequence fromithe options given below:

1.C,A D BE
2ZABCDE
3.C,BADE

4.C, D A BE
Options :

21052934913. 1
21052934914. 2

21052934915. 3
21052934916. 4

Question Number : 129 Question Id : 2105298890 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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1Y TS Sea Hisd & HIaR sPad Ulckiied! A & Fafafad ool of sHag i ;
A. 9 & ofgERl @1 i@ FuUR
B. 49 & HRI® BT AR
C. Fa%1 & /el & ugaH
D. ®¢ - 3B Wige AT BT
E. fawiig SreEl @1 sireed iR Ulddsar
1 feu 7 fasedl # 9 951 3w 9iFY

1.C,A D, B E
2.A B CDE
3.CB.ADE
4.C,D A B E
Options :

21052934913. 1
21052934914. 2
21052934915.3
21052934916. 4

Question Number : 130 Question Id : 2105298891 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Consumers pass through five stages with every purchase. Arrange the stages mentioned
below in the correct sequence starting from the first stage,

A. Information search

B. Evaluation of alternatives

C. Post-purchase behaviour

D. Need recognition

E. Purchase decision

Choose the correct answer from th& options given below:

1.ABCDE
2B CDEA
3.0,A B EC

4. D,E A B C
Options :

21052934917. 1
21052934918. 2

21052934919. 3
21052934920. 4

Question Number : 130 Question Id : 2105298891 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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FUHIEd U S Y o GIRF Yid UehH! Y oRdl o | UYH TRU1 4 3R Bd gU 3 UhH| &l Jol
3o § Hai&yd SIf ;

A, I @I Giel

p. [am gl &1 Jidaq

C. Y & UYIq HdeR

D. Ha=®dl i 7=l

E. %4 &1 (U
- feu v fasedl ¥ ¥ el S giHE:

1.A B CD,E
2B, CDEA
3.D,A B EC
4. D,E A B C
Options :

21052934917. 1
21052934918. 2
21052934919. 3
21052934920. 4

Question Number : 131 Question Id : 2105298892 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the following in descending order of importance
A. Free Trade Area

B. Customs union

C. Economic cooperation

D. Economic union

E. Common markets

Choose the correct answer from the options given below:

.C—-D—-A—-E—B
2ZA-C—-=D—-B-E
3C-A-D—-E—-B
4 C—-A-B—-E-D
Options :
21052934921. 1
21052934922. 2
21052934923. 3
21052934924. 4

Question Number : 131 Question Id : 2105298892 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Fafaiad & 390 96@ & YR W 35l »H 3 99s
A. Tad TR &3

5. HIHEcdh gHT
C. e ggan

D. 3t Ig
E. 919 99iR
4 fou T fawenl © ¥ 98 S I

1.C,D, A EB
2.ACD,BE
3.CADEB
4. C, A B ED
Options :

21052934921. 1
21052934922. 2
21052934923. 3
21052934924. 4

Question Number : 132 Question Id : 2105298893 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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The correct sequence in a business plan can be

A. Executive summary

B. Details about the Entrepreneur

C. Marketing and Economic Details

D. Financial Details

E. Human Resources Details

Choose the correct answer from the options given below:

1LA-B—=C—-D-=E
2ZB—-C—-E—-D—=A
3B-C—-A—-E-=D
4A—-B—=E—-D-=C
Options :
21052934925. 1
21052934926. 2
21052934927. 3
21052934928. 4

Question Number : 132 Question Id : 2105298893 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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I - Ao & 9cdi & $H ol Ugalg ;
A. PIUBR] TRI

B. ITHI & IR H fgary

C. f[auure SR e =R

D. fa<ita &Rt

E. AFd G978 g9 SR
- feu v fasedl ¥ ¥ 9El S 9T

1.A B CD,E
2B, CEDA
3.B.CAED
4. A B ED,C
Options :

21052934925. 1
21052934926. 2
21052934927. 3
21052934928. 4

Question Number : 133 Question Id : 2105298894 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the following group task performances according to the ascending stages of group
development.

A. Clarify all misunderstandings

B. Termination of task

C. Highly productive

D. Work output is low, focused on defining the goals and tasks
E. Issues are resolved, group norms develop

Choose the correct answer from th& options given below:

1.ADECGCB
2ZD,ACEB
3DbAECB

4D, A EBC
Options :

21052934929. 1
21052934930. 2

21052934931. 3
21052934932. 4

Question Number : 133 Question Id : 2105298894 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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GHE - 30 & SRI5! WhH & R MERkiRgd G4 D1 816 ®1 o0aieyd S :
A, 941 Tad Befgl & o fegr ST

B. @I FHIUA

C. 3Gt Jaral

D. @1 &1 Balbhd A sidl o 1oreH a8 R B &I URHING B4 IR 9 [edl &ral &
E. Hel @1 R0 8l Wil 8, e idaH §4d &

- feu 7Y famedl & ¥ Wl 3w g

1.ADECGCB
2ZD,ACEB
3DbAECB
4D A EBC

Options :

21052934929. 1
21052934930. 2
21052934931.3

21052934932. 4

Question Number : 134 Question Id : 2105298895 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Choose the correct set of options in defining the process of 'Six Sigma’ in strategic

implementation

A. Define

B. Measure

C. Establish

D. Improve

E. Analyze

Choose the correct answer from th& options given below:

T.C=D=B—=E=A
2ZD=B—=A—-E-=C
3E-D—=B-A-=C
4A—-B—=E—-D-=C
Options :
21052934933. 1
21052934934. 2
21052934935. 3
21052934936. 4

Question Number : 134 Question Id : 2105298895 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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HRIa® BE-aaH H “Sg R B Uihal & URHTN & & YeH H el fdded 999 gHu
A, GRHTET &7

. HIUAT

C. ST P

D. YR THI

E. Ta=ciym &

1 fu 7w faeal # 9 Wel ST 94 -

1.C,D, B, E A
2.D,B AEC
3.EDBAC
4. A B ED,C
Options :

21052934933. 1
21052934934. 2
21052934935.3
21052934936. 4

Question Number : 135 Question Id : 2105298896 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the following steps involved in choosing the target market in sequence, starting
from the first step

A. Profile the traits of each segment: characteristics, needs, benefits sought, preferences and
buying behavior.

B. Look for segments which are relatively less satisfied by the current offers of competing
brands in the market.

C. Identify the segment(s), lock at each segment as a distinct marketing opportunity and
grasp what makes each segment unique.

D. Evaluate whether the segment meets all the attributes of "effective segments'. Check which
one presents the best opportunity.

E. Finally, select the best segments - those segments that are.most.appropriatedor the fifm -
as the target.

Choose the correct answer from the options given below
1. Ar Br rl:l Dr E a a

2B, CDEA
3CABDE
4D, A B CE
Options :

21052934937. 1
21052934938. 2
21052934939. 3
21052934940. 4

Question Number : 135 Question Id : 2105298896 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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I&d SR & 90 H S Haiciad aoll &f UuH 90 § HRY Bid gL AaiRyd HITg;
A TS s b dadl, [O=I9d, Hazgddl, Hi 18 ugidel UaiHdd 3R &l deR @ 9hsd
B. 3 Wal @l Wid &A1 ol deiR H Ufaeadf 9is & aadH U6 9 3Ugiehd oF IqP 8

C. WS (Wel) B UgdH &1, Udd Ws &l Ud (43 fauuH 3igeR & ©4 H &341 3R o sror
I Ud® ©s [ARF el g, 94 IR UHs ]|

D. 39 dId &I Hlich- & b @s YHId! sl & G4l 70l &l G & § Aydi el : 39 91d Bi
g BT o b Gay SIa9R UId &l 81 3

E. 3{dd: Taiad Wl &1 991 &l - U8 TS 3 asd & ©4 § [uid oo ol v & o gaifis
JUga ol |

1 feu 7 fasedl # ¥ 95! IoR 9inY -

1.ABCDE

2B, CDEA

3CABDE

4D, A B CE a a
Options :

21052934937. 1
21052934938. 2
21052934939. 3
21052934940. 4

Question Number : 136 Question Id : 2105298897 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Given below are two Statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A:

At some point, a product’s sales growth will slow down, and it will enter the maturity stage.
This maturity stage normally lasts longer than the previous stages of PLC and it poses strong
challenges to marketing management.

Reason R:

Slow down in sales growth is due to the acceptance of the product by most potential buyers. It
is also due to the entry of competing firms in the market and price competition stiffening.

In light of the above statements, choose the correct answer from the options given balow.

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R is NOT the correct explanation of A

3. A is true but R is false

4, A is false but R is true a d d a
Options :

21052934941. 1

21052934942. 2
21052934943. 3
21052934944. 4

Question Number : 136 Question Id : 2105298897 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

https://g28.tcsion.com/CAE/viewHtmIPDFAction.action 210/233



10/1/2020 https://g28.tcsion.com/CAE/viewHtmIPDFAction.action

TGl oY RU TN T : U & AU (A) R GO & d& (R) Bel T g

HYEHYH (a) ; fordd fdg fagiy W foodl Sare &t faehd gfs &H B owEl ofk 9 gRusd &t
HERIT H 9ol AT, URYSd &1 U8 29wl U ud H &1 Ydadl sfaw13if ¥ rrgd: iG] del
gl & SR fauuM veeH & fore 93t g1 U9 Bl &

a® (R) : ara ofe & g eifieizr Guifad sharsll ER1 39 Sdie @ Wield & SR s, T4
TR H ufaegdf Ba & o 3R avrel ¥og uidwuyl & dRu i gial g

Suddad HYAl & faie | it [deedl & U 98l 3w 91 :

1. (A) 3R (R) GHIT Tl & IR (R), (A) P! ol AR &

2. (A) 3R (R) GHI G&1 & U (R), (A) P Yol odre] Tl o
3. (A) W61 & TR (R) el 7ol &

4. (A) He1 981 & IR (R) Ul B

Options :

21052934941. 1

21052934942. 2

21052934943. 3
21052934944. 4 a a

Question Number : 137 Question Id : 2105298898 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Given below are two Statements: one is |abelled as Assertion A and the other is labelled
as Reason R

Assertion A:

Investors arcund the world are demanding socially and environmentally conscious options in
equities, bonds, ETF or hedge funds.

Reason R:

Climate change and environment have become 'defining factors' in companies’ long-term
prospects with a significant reallocation of capital as the shortage of clean water and air have
become existential questions.

In light of the above statements, choose the correct answer from the options given balow.

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R is NOT the correct explanation of A

3. A is true but R is false

4, A is false but R is true a d d a
Options :

21052934945. 1

21052934946. 2
21052934947. 3
21052934948. 4

Question Number : 137 Question Id : 2105298898 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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TGl oY RU TN T : U & AU (A) R GO & d& (R) Bel T g

HYEYH () : R R & FHoge 3iefedl aish 3 3w 3iyal g9 hel § aHiae 3R
ol 0 T GoitT fgdedl & 3 P2 38 ol

dh (R) : T&S Wl 3R T dig ] DAl o i Rep WY &4 o 914 Taarg URad= ¢k
TiaRT SUdl @i graiare GHEHs @ ' UIRYIbS HRé’ &5 9 & 3R 344 Ysil ®f 9aiw
THeiTdeT frar S 2T B

Sudd BYH! & Scid o [gifcd fadedl § § Hallte Suddd 3wk 9 ;

1. (A) 3R (R) GHIT Tl & IR (R), (A) P! ol AR &

2. (A) 3R (R) GHI G&1 & U (R), (A) P Yol odre] Tl o
3. (A) W61 & TR (R) el 7ol &

4. (A) He1 981 & IR (R) Ul B

Options :

21052934945. 1

21052934946. 2

21052934947. 3
21052934948. 4 a a

Question Number : 138 Question Id : 2105298899 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Given below are two statements:

Statement |: Power of the employee to remove dissatisfaction is low when his position in the

organization is extremely important.

Statement lI: The more the employees believe that a union can obtain positive work aspects,
the more instrumental the union is for the employees.

In light of the above statements, choose the correct answer from the options given below.

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement |l are false

3. Statement | is correct but Statement Il is false
4, Statement | is incorrect but Statement Il is true
Options :

21052934949. 1

21052934950. 2

21052934951. 3

21052934952. 4
Question Number : 138 Question Id : 2105298899 Questioua la No Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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EIEEALLEAEIEE

©Y - | : e W1 H HHdar] &1 sRigd HAfds deayyl ol df Hdy g2 & &) 3@ &l
DHHBIA B

B - || HHIR] foreT ifde U8 [ o3d § b 1S g e SRS B Ugq Ui &3
godl & 31 81 98 g SHaAl & e Suarf sidi g

Suddad HYAl & faie | it [deedl & U 98l 3w 91 :

1. Y | 3R 11 ST G B

2. Y | 3R || GFf Tad &

3. %Y1 9d &, fooeg oY 11 Tdd B
4. DY | AHA © , foq YA 11 el Bl
Options :

21052934949. 1

21052934950. 2

21052934951. 3

21052934952. 4
Question Number : 139 Question Id : 2105298900 Questima la No Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Given below are two statements:

Statement |: In psychographic segmentation of the market, the science of psychology is used
for understanding and segmenting the consumers.

Statement lI: Segmenting consumers based on psychographics rests on identifying
consumers' state of mind, and hence helps in piecing together with a more incisive profile of
the target consumers.

In light of the above statements, choose the most appropriate answer from the options given
below.

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement Il are false

3. Statement | is correct but Statement Il is false
4, Statement | is incorrect but Statement Il is true
Options :

21052934953. 1
21052934954. 2
21052934955. 3
21052934956. 4

Question Number : 139 Question Id : 2105298900 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Tdal sy ey e g

BHYF - | ; TR & FATAES Waigd H IuHiadrsi & 99t iR 30 We g & fod AA1Ees
®| faan &1 ugn feegr o g

FHYT - || ; FAITGHA TR 3NUING STHET Galgd, SuHiaars & AFid Saw ®f UggH 0
7R T & 3R ofa: Tieud Suyiaaie &1 e WHRd a4H & 9eh® aidl o

SWad B! & 3fcid J Fafaiad famedl H 9 gaifde 3uged 3w 94 :

1. DY | 3R 1| T g8 B

2. @Y | 3R || &F T 8

. T | Tel s, g e 1 9 TR B |
4, BYF | 81 el © , g DY Il el &l
Options :

21052934953. 1

21052934954 2

21052934955. 3

21052934956. 4
Question Number : 140 Question Id : 2105298901 Questima la No Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Given below are two statements:

Statement I: Quota sampling is the non-random method of selecting a sample from a
population.

Statement lI: The standard error of the estimate is inversely proportional to the square root of
the sample size.

In light of the above statements, choose the correct answer from the options given below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement |l are false

3. Statement | is correct but Statement Il is false
4, Statement | is incorrect but Statement Il is true
Options :

21052934957. 1

21052934958. 2

21052934959. 3

21052934960. 4
Question Number : 140 Question Id : 2105298901 Questioua la No Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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dd el py leg MU g :

®Y - | : Dicl Uiy fodl S8 [93y ¥ ufies 999 @1 smeiess &Y g
©YA - || : Widd o @l A J1e UidaRl SeR & FiHd & GebArddl sl g |
SUgdd Syl & 3Tt H Fgifdd fdepeal § 4 w81 Sw g -

1. @Y | AR || SH el g

2. Y | 3R || GFf Tad &

3.9 1 9 &, g sy 1 7dd & |
4. DY | AHA B, foq BYA 11 BT B
Options :

21052934957. 1

21052934958. 2

21052934959. 3

21052934960. 4

Sub-Section Number : 2
Sub-Section Id : 210529340
Question Shuffling Allowed : Yes

Question Id : 2105298902 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (141 to 145)

Question Label : Comprehension
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Read the passage and attempt the questions that follow:

Marketing plays a critical role in organizations. It is considered as an entrepreneurial and
strategic function of the business.

Marketing's main function is to meet customer needs. At the same time, it also needs to
generate profit and build a "relationship” with customers. Marketing is different from and
larger than selling.

Many different concepts of marketing such as the exchange concept production concept,
product concept, sales concept and marketing concept have been in vogue over the years.
Concepts other than the marketing concept result in, 'marketing myopia', which signifies a
narrow perception of marketing and a short-sightedwwiew of the business.in factall the
concepts in vogue turn odt to be inadequate, to varyingudsgrees, Marketers are enable to
secure the needed practical guidance on the core of marketing from any of them. Neone of
them is centred on the idea of value delivery when value delivery ought to take the centre

stage in marketing. There is thus a need for a more concrete persp
In the marketing context, 'value' 'has certain uniqu

i
‘'value'. People do neot buy products, they buy 'valua

selecting the value to be offered, creating the value and capturing the value back from the

slate_into
involves

market through pricing, enhancing and sustaining the value. And 'value delivery' has to be a
corporate-level concern.

Sub questions

Question Number : 141 Question Id : 2105298903 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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What is the role played by marketing in an organization?

1. It is considered as an entrepreneurial function of business.

2. It is considered as a strategic function of business.

3. It is considered as an entrepreneurial and strategic function of business.
4. It is considered as sub-ordinate role of business.

Options :

21052934961. 1

21052934962. 2

21052934963. 3

21052934964. 4

Question Number : 142 Question Id : 2105298904 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The main function of the marketing is to

1. Generate profit

2. Build relationships with customers

3. Meet customer needs

4. Meet customer needs, build relationships with custom&Sane also gereratepndhit
Options :

21052934965. 1

21052934966. 2

21052934967. 3

21052934968. 4

Question Number : 143 Question Id : 2105298905 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Which one of the following different concepts of marketing holds that generating customer
satisfaction is the main task of marketing?

1. Exchange concept
2. Product concept

3. Selling concept

4. Marketing concept
Options :
21052934969. 1
21052934970. 2
21052934971. 3
21052934972. 4

Question Number : 144 Question Id : 2105298906 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Name the process which involves selecting the value to be offered, creating the value,

communicating the valug, delivering the value and capturing the value back from the market

1. Product-delivery process

2. Corporate brand delivery process
3. Value-delivery process

4. Marketing process

Options :

21052934973. 1

21052934974. 2

21052934975. 3

21052934976. 4

Question Number : 145 Question Id : 2105298907 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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‘Marketing Myopia’ concept of marketing refers to

1. A narrow perception of marketing and a short-sighted view of business.
2. The value concept of marketing.

3. Social marketing concept of marketing.

4. Green marketing concept of marketing.

Options :

21052934977. 1

21052934978. 2

21052934979. 3

21052934980. 4

Question Id : 2105298902 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (141 to 145)
Question Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 2105298903 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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ot e & fquom ot F YT B § 2

1. 38 UM BT U6 IR b T o1l o

2. 35U SGU™ &1 U BIU-idd Ybrd A1 oidl & |

3. 34 a9E @1 3gHdl W@ 2R SEHE Uei JH o[l e
4. 38 TI99E B TP ST YA Bt T 4l Sl o
Options :

21052934961. 1

21052934962. 2

21052934963. 3

21052934964. 4

Question Number : 142 Question Id : 2105298904 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

[CEEEGARE R GAU S

1. TTHTS

2. UTE®D! & 91y Yay fFHi

3. UTe®| &1 g ddlel &1 ufd

4, TTEH! B SATIRTHANS! DI Gid, ATeD| & 1Y Ja¢ FHTopsiR e
Options :

21052934965. 1

21052934966. 2

21052934967. 3

21052934968. 4

Question Number : 143 Question Id : 2105298905 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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fquuH @t FafaRed | 9 69 sayron & 98 7F1 oidl & & T dqi® 9o [a4uH &
P 87

1. TdfHHT Sf@yRo
2. 3dig YR
3. f[deh g gyrun
4. TqUU 3[R
Options :
21052934969. 1
21052934970. 2
21052934971. 3
21052934972, 4

Question Number : 144 Question Id : 2105298906 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

de &1 9l ufthar & forgd v [t oI dicl 5H &1 994, 51 9ei-, i S8uu, 34 UaiEiii 3R

R T OH B 4= Wit 2N sl 6 2

1. TG Targt

2. DRUNT SIS Hargdl
3. 9 - Ut

4, fqqu ufesar
Options :
21052934973. 1
21052934974. 2
21052934975. 3
21052934976. 4

Question Number : 145 Question Id : 2105298907 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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fguum &t fJuvm efPgiv sayr frad Hefta g 7

1. f4UUH &1 U I iad SauRoN R a9 & Uld gl =ffaiu
2. T[qUUH &1 519 &Y S[gyRT

3. f[quuH &1 gETfee f[d9uH SEyrRom

4, T4uUH &1 gia f9uuE sfayrRun

Options :

21052934977. 1

21052934978. 2

21052934979. 3

21052934980. 4

Sub-Section Number : 3
Sub-Section Id : 210529341
Question Shuffling Allowed : Yes

Question Id : 2105298908 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (146 to 150)

Question Label : Comprehension
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Read the passage and answer the questions that follow:

Mr Mohan, an MBA with specialisation in Human Resources joined a company XYZ into the
business of garments in Delhi. Before joining the company XYZ, he had prior experience of
working in corporates for 5 years. He has worked in the area of compensation dealing with
workers and employees. In the company XYZ, Mr Mohan was entrusted with the work of
dealing with both workers and executives and look towards their compensation
and remuneration. Mr Mohan has to be abreast with the latest rules of compensation both in
theory and as prescribed by the government of Delhi. The company XYZ believed in both
types of benefits to be given to their employees - both workers and executives - fringe
benefits and non-fringe benefits. For executives, the company XYZ believes in equity both
within the company and outside also. All policies of the company XYZ relating to
compensation management were told to Mr Mohan and he has to follow them objectively,

Sub questions

Question Number : 146 Question Id : 2105298909 Question : : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
Executives ask the company XYZ to give them perquisites r n Out of

the following which one is the prerequisite?

1. Group Insurance
2. Medical Allowance
3. Club Membership
4. Provident Fund
Options :
21052934981. 1
21052934982. 2
21052934983. 3
21052934984. 4
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Question Number : 147 Question Id : 2105298910 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

If you were Mr Mohan, which of the following is an example of payment that is consistent from

period to period despite the number of hours worked?

1. Wage

2. Salary

3. Reward

4, Incentive
Options :
21052934985. 1
21052934986. 2
21052934987. 3
21052934988. 4

Question Number : 148 Question Id : 2105298911 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Management of XYZ company asks Mr Mohan to answer thelguegtion tha "Ab - haviglr which

has a rewarding experience is likely to be repeated’ is postertated By

1. Behaviourial theory

2. Reinforcement and expectancy theory
3. Agency theory

4. Contingency theory

Options :

21052934989. 1

21052934990. 2

21052934991. 3

21052934992. 4

Question Number : 149 Question Id : 2105298912 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
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Correct Marks : 2 Wrong Marks : 0
From the knowledge acquired by Mr Mchan during the MBA program, he has to explain to the
management of the company XYZ, that out of the following, which one is not a part of
the Remuneration Model?

1. Job Description
2. Job Analysis

3. Job Hierarchy
4. Job Evaluation
Options :
21052934993. 1
21052934994. 2
21052934995. 3
21052934996. 4

Question Number : 150 Question Id : 2105298913 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Mr Mohan, HR Executive of XYZ company, has to design a compensati@n pian.fhat must be

1. Understandable, Workable, Acceptable

2. Reasonable, Workable, Acceptable

3. Understandable, Feasible, Acceptable

4. Understandable, Workable, Compensable
Options :

21052934997. 1

21052934998. 2

21052934999. 3

21052935000. 4

Question Id : 2105298908 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (146 to 150)
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Question Label : Comprehension

T &1 U3 B A1+ 3¢ 70 usf & I diferg

T fEfum o Amg ganE o fogvgar T aa 41 Jieq A ol g fad-faa oust
@] SUIUR B3 dIell U XyZ D1 § SAYR 980 fbdr| xyz &l § dYR Y80 &34 4 Ud 3¢
HRUNE H 5 941 9 BIH B4 DI Jd 4d 41| 3= RISk sdaial § Jefed ufes
& o @ a1 81 xvz Ul 8 & Jig7 @ SERT 3R sriuas! oiF O Yafid s gfar
forgd 3 ufa@e SR uifefie o &1 o g unl of A3ed 51 ufaer d 9 dsifoe 9iR
feeeh! TR gR1 Huia aHf UeR & 2ea Fadl @ SHeR! Wa-] AU 31 xvz S o
HHINE-BHIR R SRS - gHf & HfaRad ugau] R g wgaut aqi o7 ¥ oy
W ¥l SEUA®! & 0T XYZ B & Hid SR 98 U 99 § g6 &l gl diden
TEYE U Se! XyZ B B GHi Hifaal 8 Oie- & a1 &l 715 of SR 4 A Sl 3Ad! e ¥
Y e &1 8

Sub questions

Question Number : 146 Question Id : 2105298909 Question
Correct Marks : 2 Wrong Marks : 0

HTUATAD] - XYZ B & 37 el HaH de- & o0
Fofeiea o 9 oF 9 e s ?

1. GHE &4

2. Tafdseamer

3. 979 @I o=l
4, yfaeg fafg
Options :
21052934981. 1
21052934982. 2
21052934983. 3
21052934984. 4

: No Is Question Mandatory : No
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Question Number : 147 Question Id : 2105298910 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

T 319 e 814 a1 FEfaRad & § &1 -9 Yiar ol S6Te<0 gial ol 16T 7Y &1 & Hel @i

1 & SIqele (ard GHa1ar § Ydd §41 5l ?

1. FeIgY
2. g

3. JEPN

4. UIdTed
Options :
21052934985. 1
21052934986. 2
21052934987. 3
21052934988. 4

Question Number : 148 Question Id : 2105298911 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

XYZ SO @1 TeeH 4 e 9 0% - 79 SIaeR @ S GG @ie g Gt e |
HYIGT 8" DI IR o @ (o8 dedl o | I8 HaiiEd 9 f¥feds &

1. AdeReY fHgid

2. HaoH SR U i
3. Y fGgid

4, oS Fgid

Options :

21052934989. 1
21052934990. 2
21052934991. 3
21052934992, 4

Question Number : 149 Question Id : 2105298912 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
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Correct Marks : 2 Wrong Marks : 0
THALT BEDHH & GRM I 7 & H1HR W 41 Higd Bl XYZ HU-1 & Jae Bl TWE S § &
Fgfiad # 9 ©H-T1 Huigs] Alsd & U el & ?

1. @Y fqaLo
2. DA fadym

3. B UgHsHH
4. 1Y glid
Options :
21052934993. 1
21052934994. 2
21052934995. 3
21052934996. 4

Question Number : 150 Question Id : 2105298913 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

XYZ Ul & HFg STe dEgmD 4 Al ®1 TP Uidd: dleil ddR S & o -

1. ST, BRHH, Wid 6l

plahivay a a
3. ST, Tder, WidM &l

4, ST, BREH, UiGHuiyg ot

Options :

21052934997. 1

21052934998. 2

21052934999. 3
21052935000. 4
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